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Q1. A bookseller bought 500 text books for 20,000. He wanted
to sell them at a profit so that he get 50 books free. At what
profit percent should he sell them?

(@) 10 %

(b) 20 %

(c)15%

(d)20.5%

Q2. 20% of a man's salary is paid as rent, 60% are his living
expenses and 10% are his savings. If he spends remaining Rs. 30
on the education of his children, find his salary?

(a) 300

(b) 900

(c) 3000

(d) 9000

Q3. The radius of a sphere and hemisphere are same. The ratio
of their total surface areais:

(@)32

(b) 2:2

(c)3:2

(d) 4:3

Q4. There are 1400 students in a school, 25% of those wear
spectacles and 2/7 of those wearing spectacles are boys. How
many girls in the school wear spectacles?

(a) 250

(b) 100

(c) 200

(d) 300

Q5. A can do 1/3rd of a work in 5 days and B can do 2/s5th of this
work in 10 days. Both A and B, together can do'the workin

3
(@) 7 S days

Q6. The marked price of a ceiling fan is Rs. 1200 and the
shopkeeper allows a discount of 5 % on it. Then selling price of
the fanis

(a) Rs. 1410

(b) Rs. 1400

(c) Rs. 1140

(d) Rs. 1104

Qy. A train covers a distance in 5o minutes if it runs at a speed of
48 km/hr on an average. The speed at which the train must run
to reduce the time of journey to 40 minutes will be-

(a) 45 km/hr

(b) 5o km/hr

(c) 60 km/hr

(d) 75 km/hr

Q8. A machine cost Rs. 32000 at present. If the value of the
machine depreciates at the rate of 5% compounded annually.
What will be its value 3 years hence?

(a) Rs. 23189

(b) Rs. 24598

(c)Rs. 25248

(d) Rs. 27436

Qg. The slant height of a conical mountain is 2.5 km, and the
area of its base is 1.54 kmz2. Find the height of the mountain.

(a) 2.2 km

(b) 2.4 km

(c)3km

(d) 3.11 km

Q0. Among the three numbers, the second is twice the first and
is also thrice the third. If the average of three numbers is 55, find
the largest number.

(a) 45

(b) 54

()63

(d) 90

Qa1. A sum of Rs. g60 is divided among 4 men, 5 women and 8
boys such that the share of a man, a women and a boy is in the
ratio of 5:4:3 respectively. Find the share of a woman.

(a)Rs. 30

(b) Rs. 60

(c)Rs. 90

(d)Rs. 120

Qa2. In a certain school, 20% of students are below 8 years of
age. The number of students of 8 years age or above 8 years of
age is 48. What is the total number of students in the school?
(a) 72

(b) 8o

(c) 6o

(d) 150

Q13. A man took loan a bank at the rate of 12% p.a simple
interest. After 3 years he had to pay Rs. 5400 interests only for
the period. The principal amount borrowed by him was:

(a) Rs. 2000

(b) Rs. 10,000

(c) Rs. 15,000

(d) Rs. 20,000

Q4. If a man were to sell his chair for Rs. 720, he would lose
25%. To gain 25% he should sell it for

(a) Rs. 1,000

(b) Rs. 1,200

(c)Rs. 1,960

(d) Rs. 1,900
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Q1s5. A man on tour travels first 160 km at 64 km/hr and the next
160 km at 8o km/hr. The average speed for the first 320 km of
the tour is:

(a) 35.55 km/hr

(b) 36 km/hr

(c) 72.22 km/hr

(d) 72 km/hr

Q16. The ratio of boys and girls in a school is 3: 2. When 6 more
boys join, this ratio becomes 7: 4. How may boys are there in the
school after new joining?

(a) 24

(b) 30

(c) 42

(d) None of these

Qz7. A man sold two tables at Rs. 1,200 each. On one he gained
20% and on the other he lost 20%. His gain or loss in the whole
transaction is

(a) 1% loss

(b) 2% loss

(c) 4% loss

(d) 1% gain

Q8. The L.C.M. of two numbers is 48. The numbers are in the
ratio 2 : 3. Then sum of the number is:

(a) 28

(b) 32

(c) 40

(d) 64

Q19. A train running at a speed of 194.4 kilometer per hour
passes a man walking in opposite direction_at 6 metre per
second in 15 second. What is the length ofithe train?

(a) 600 metre

(b) 800 metre

(c) 900 metre

(d) 100 metre

Q20. Anoop travels first 1/3™ of the total distance at the speed
of 10 km/hr and the next 1/3™ distance at the speed of 20 km/hr
and the last 1/3™ distance at the speed of 60 km/hr. The average
speed of anoop is :

(@) 15 km/hr

(b) 28 km/hr

(c) 25 km/hr

(d) 30 km/hr

Q21. The ratio of the quantities of an acid and water in a mixture
is1: 3. If 5 liters of acid is further added to the mixture, the new
ratio becomes 1: 2. The quantity of new mixture in litres is

(a) 32

(b) 40

() 42

(d) 45

Q22. When a number is divided by 234, the remainder obtained
is 26. If the same number is divided by 13, then the remainder
obtained will be:

(a) Zero

(b)1

5

(d) 4

Q23. P is thrice as efficient as Q and is therefore able to finish a
piece of work in 60 days less than Q. Find the time in which Q
can complete work individually.

(@) 9o

(b) 60

(€) 40

(d) None of these

Q24. In what ratio must a grocer mix teas at Rs. 60 a kg, and Rs.
65 a kg, so that by selling the mixture at Rs. 68.20 a kg, he may
gain 10%?

(@)3:2

(b)3:4

(©3:5

d4:5

Q25. A man had 100 kgs of sugar, part of which he sold at 7%
profit and rest at 17% profit. He gained 10% on the whole. How
much did he sell at 7% profit?

(a) 65kg

(b) 35 kg

()30kg

(d)70kg

Q26. The price of rice is reduced by 2%. How many kilograms of
rice can now be bought for the money which was sufficient to
buy 49 kgs of rice earlier?

(a) 48 kgs.

(b) 49 kgs.

() 50 kgs.

(d) 51 kgs.

Q27. A batsman scored 110 runs which included 3 boundaries
and 8 sixes. What per cent of his total score, did he make by
running between the wickets?
() 45%
5
(b) 45%
@ 5416—1%
(d) 55%

Q28. If both the radius and height of a right circular cone are
increased by 20%, its volume will be increased by

(a) 20%

(b) 40%

(c) 60%

(d) 72.8%
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Q2g9. If the number 2304ab is completely divisible by 8o then
what will be the value a+b?

(@) 4

(b)9

()6

(d)8

Q30. On calculating the H.C.F. of two numbers by division
method the last divisor is 75 and quotients from the beginning
are 3, 1, 1 and 3. What will be the sum of these two numbers?
(a) 2400

(b) 2500

(c) 825

(d) None of these

Q31. A work is being completed by a group of 10 men in 12 days.
Same work is completed by a group of 10 women in 6 days. In
how many days will the work be completed in both the groups
work together?

(a) 4

(b) 6

@9

(d)18

Q32. A is thrice efficient than B and takes 60 days less than B to
complete a work. In how many days can they complete this work
if they work together?

(@) 20 days

22 % days

(b)
25 days

(©
30 days
(d)
Q33. Mohan and Sohan started a business. Mohan invested Rs.
20,000 for 6 months. Sohan investedfor one year. At the end of
a year Mohan got Rs. 6,000 in the total profit of Rs. 9,000. How
much did Sohan invest initially?
(a) Rs. 10,000
(b) Rs. 5,000
(c)Rs. 12,000
(d) Rs. 8,000

Q34. A wall clock takes 22 seconds to strike the number of 11
hours at 12 o’clock. The time will it take to strike the number of
hours at 6 o’clock is

(a) 12 sec

(b) 120 sec

(c) 11 sec

(d) 9.16 sec

Q3s5. A person takes 3 hours 45 minutes to row his boat 15 km
downstream in a river and in opposite direction it takes 2 hours
30 minutes to row 5 km. What will be the speed of the stream?
(a) 0.5 km/h

(b) 2 km/h

(c) 1 km/h

(d)3km/h

Q36. The average consumption of rice per person per month in
a family of 8 adults and some kids is 10.8 kg, where the average
consumption per person for adult is 15 kg and for kids is 6 kg.
What is the number of kids in the family?

(@)8

(b) 6

@7

9

Q37. A merchant purchases a wrist watch for Rs. 450 and fixes
its list price in such a way that after allowing a discount of 10%,
he earns a profit of 20%. Then the list price of the watch is

(a) Rs. 650

(b) Rs. 700

(c)Rs. 550

(d) Rs. 600

Q38. Kamal can do a piece of work in 15 days. Bimal is 50 per
cent more efficient than Kamal in doing the work. In how many
days will Bimal do that work?

@14 days

b) 12 days

© 10 days

1
10 =days
d =z
Q39. In the given figure, PAB is a secant and PT is a tangent to
the circle from P. If PT = 5 cm, PA = 4 cm and AB = x cm, then x
is:

(@) 4l9 cm
(b) 2/3 cm
(€) 9/4 cm
(d)5cm

AB|lcD

Q4o0. In trapezium ABCD, and AB = 2 CD. Its

diagonals intersect at O. If the area of 4 AOB —g, CIM?, then

the area of 4 COD g equal to
(a) 21 cm?

) 72 cm-

© 42 cm?
3 2
) 26 cm
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Q4. The average of runs scored by a player in 120 innings is 5o.
How many runs should be score in the 112*" innings so that his
average is increased by 2 runs?

(a) 8o runs

(b) 72 runs

(c) 6o runs

(d) 54 runs

Q42. Twinkle bought 30 kg of wheat at the rate of Rs. 9.50 per
kg of wheat and the same amount of wheat at the rate of Rs.
8.50 per kg and mixed them. She sold the mixture at the rate of
Rs. 8.90 per kg. Her total profit or loss in the transaction was :
(a) Rs. 2 loss

(b) Rs. 2 profit

(c) Rs. 6 loss

(d) Rs. 6 profit

Q43. A certain number of persons can complete a piece of work
in 55 days. If there were 6 persons more, the work could be
finished in 11 days less. How many persons were originally
there?
(a) 17
(b) 24
(c)30
(d) 22

Q44. Points ‘A’ and 'B’ are 70 km apart on a highway and two
cars start at the same time. If they travel in the same direction,
they meet in 7 hours, but if they travel towards each other they
meet in one hour. Find the speed of the two cars (in km/hr).

(a) 20,30

(b) 40, 30

(c) 30, 50

(d) 20, 40

Q45. The price of coal is increased by 20%, By what per cent a
family should decrease its consumption so that expenditure
remains same?

) 20%
46204
b 3

© 209

1629
d 3
Q46. In an examination, 19% students fail in Mathematics and
10% students fail in English. If 7% of all students fail in both
subjects, then the percentage of students passed in both
subjectsis:
(a) 36% of all students
(b) 64% of all students
(c) 71% of all students
(d) 78% of all students

Q47. Rakesh buys a watch for Rs. 600 and sells it to Saravana at
10% profit. Saravana sells it to Ajay at 5% profit. For how much
does Saravana sell the watch to Ajay?

(a) Rs. 650

(b) Rs. 679

(c) Rs. 693

(d)Rs. 710

Q48. Atrain covers a distance of 10 kmin 12 minutes. If its speed
is decreased by 5 km/hr, find the time taken to cover the same
distance.

(a) 10 minutes

(b) 22 minutes 20 second

(c) 13 minutes

(d) 23 minutes 20 second

Q49. What is the least number which when doubled will be
exactly divisible by 12, 14, 18 and 227

(a) 1216

(b) 1286

(c) 1386

(d) 2436

Qso. The volumes of two spheres are in the ratio of 64 : 27. Find
the ratio of their surface areas.

(@)z1:3

(b)1:5

(A4:3

(d)16:9

Qs1. The sum of two numbers is 70 and the difference of their
squares is 1400. Find the difference between the numbers.

(a) 20

(b) 35

() 49

(d) 65

Q52. A man lent Rs. 60,000, partly at 5% and the rest at 4%
simple interest. If the total annual interest is Rs. 2560, the
money lent at 4% was

(a) Rs. 30000

(b) Rs. 40000

(c) Rs. 44000

(d) Rs. 45000

Qs53. B got 20% marks less than A. What per cent marks did A
got more than B?

(a)12

(b) 20

(c) 25

(d) 8o

Qs4. A, B and C can finish a job working alone in 20, 30 and 60
days respectively. They all work together for 1 day, then Aand B
quit. How many days C working alone will take to finish the
remaining part of the job?

(a) 60

(b) 54

()6

(d)27
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Qs55. In a basket, 4 times the number of apples is 30 less than
twice the square of the number of apples. How many apples are
there in the basket?

(a) 10

(b)s5

(@7

(d)8

Q56. The average temperature of the first three days of a week
is 26.5°C and that of the next three days is 29°C. If the weekly
average is 27.4°C, what is the temperature of the last day?

(a) 26.8°C

(b) 24.8°C

(c) 25.3°C

(d) 26.4°C

Qs7. A person buys a watch worth Rs.750 a mobile worth Rs.
3600 and a television worth Rs.10500 and pays duty of 4%, 7%
and 9% respectively. Find out the total duty paid by him.

(a) Rs.1300

(b) Rs1197

(c) Rs1227

(d) Rs.1327

Q58. In a bus, 48%, 20% and 24% of passengers were from
Mumbai, Delhi and Hyderabad respectively and remaining 20
were from Bihar. Then how many were from Mumbai?

(a) 150

(b) 120

(c) 125

(d) 130

Qs59. The average of first five readings out.of total g readings is
12. The average of last 5 readings is 15¢The average/of g readings
is 10. Find out the 5th readings.

(@35

(b) 45

(€63

(d) 55

Q60. Raj sells a bicycle to Pawan at a profit of 25% and Pawan
sells it to Dinkar at a profit of 20%. If Dinkar pays Rs 156, how
much does Raj pay for it?

(@) Rs 134

(b) Rs 124

(c)Rs 114

(d) Rs 104

Q61. A man gains 10% by selling an article for a certain price. If
he sells it at half of the price, the percentage loss will be:

(a) 5%

(b) 45%

(c) 100%

(d) 55%

Q62. If the angel of elevation of the sun is 60°. then the ratio of
the height of a wall and its shadow is

@1:43

(b)V3:1

(©V2:3

(d)V3:v2

Q63. The ratio of the age of Sweta and Santoshiis g : 4. If after
10 years, Santoshi's age would be the same as the present age
of Sweta, find the present age of Sweta (in years).

(@9

(b) 36

(c) 27

(d) 18

Q64. A, B and C started a business with their investments in the
ratio of 1: 2 : 3. After 6 months, A invested the same amount as
before and B and C withdrew half of their investments. The ratio
of their profits at the end of the year is:

(@)2:2:3

(b)y1:2:
(€)2:2:
(d)2:3:

Q65. A person rows his boat 750 meters upstream in 675 seconds

N BN

and returns in 7% minutes. What will be his speed in still water?
(a) 3 km/h
(b) 4 km/h
(c) 5 km/h
(d) 6 km/h

Q66. The average of 40 observations was 28. It was later found
that in two observations, 42 was taken instead of 24 and 12
instead of 62. What is the correct average?

(a) 26.8

(b) 23.8

(c) 28.8

(d) 25.8

Q67. The respective ratio of boys and girls in a college is 31 : 23.
After the admission of 75 more girls in the college, this ratio
becomes 124 : 107. How many girls will have to admit in the class
to make the number of boys and girls equal in the college ?

(@) 75

(b) 90

(c) 6o

(d) 85

068 (472 -418)+ 412 will be equal to
(@) 5

IE
()2

(9)

(d)
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Q69. The sum of present ages of A and B is 7 times the difference
of their ages. 5 years hence, their total ages will be g times the
difference of their ages. What is the present age of elder one (in
years) ?

(a) 25

(b) 20

(c)15

(d) 18

Qyo. The ratio of the income of Ram and Shyam is 7: 17 and the
ratio of the income of Shyam and Sohan is 7 : 17. If the income of
Ram is Rs. 490 then what is the income of Sohan ?

(a) Rs. 1690

(b) Rs. 2890

(c) Rs. 1790

(d) Rs. 1190

Q71.
IfA:B=

|

LB:C= andC:D=

0a| =
| n

-

o | Do

ba | =
[}

(@)6:4:8:10
(b)6:8:9:10
(c)8:6:10:9
(d)4:6:8:10

Q72. A trader sold an item at a loss of 20%. Had he sold it for Rs.
100 more, he would have gained a profit of 5%. What is the cost
price of the item ?

(a) Rs. 200

(b) Rs. 25

(c) Rs. 400

(d) Rs. 250

Q73. A car left 3 minutes early than the scheduled time and in
orderto reach the destination 126 kmiaway:in time, it has to slow
its speed by 6 km/h from the usual. What is the usual speed (in
km/hr) of the car?

(a) 56

(b) 63

(©) 94.5

(d) 126

Q74. The price of motor cycle depreciates every year by 10%. If
the value of the motor cycle after 3 years will be Rs 36450, Then
what is the present value (in Rs) of the motor cycle?

(a) 45000

(b) soooo

(c) 48000

(d) 51000

Qy75. The average age of 6 members of a family is 25 years. If the
youngest member of the family is 15 years old, then what was
the average age (in years) of the family at the time of the birth
of the youngest member?

(@9

(b) 12

(c)18

(d) 24

:EthenA:B:
4

Q76. A and B together can complete a work in 30 day. They
started together but after 6 days A left the work and the work is
completed by B after 36 more days. A alone can complete the
entire work in how many days?

(a) 45

(b) 90

(c) 6o

(d) 120

Qy77. On an article the profit is 210% of the cost price. If the cost
price increases by 40% but the selling price remains constant,
then approximately what percentage of selling price will be the
profit?

(@) 55

(b) 62

(@74

(d)8s

Q78. A boat travels 60 kilometers downstream and 20
kilometers upstream in 4 hours. The same boat travels 4o
kilometers downstream and 4o kilometers upstream in 6 hours.
What is the speed (in km/hr) of the stream?

() 24

(b) 16

(c) 18

(d) 20

Q79. The average of 5 consecutive odd numbers is 27. What is
the product of the first and the last number?

(a) 621

(b) 667

(9713

(d) 725

Q8o. 5o trees are standing in a line such that distance between
any two consecutive trees is same. A car takes 18 seconds to
travel from 13 tree to 34 tree. How much time (in seconds) will
it take to reach from 1%t tree to 5ot tree?

(a) 42

(b) 42.85

(9 45

(d) 49
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Q81. Three bottles of equal capacity contain mixture of milk and
waterinratio 2:3,3:5and 4 : 5 respectively. These three bottles
are emptied into a large bottle. What is the ratio of milk and
water respectively in the large bottle?

(a) 439:1080

(b) 439 : 641

(c) 439: 360

(d) 439:79

Q82. Ram is five times as efficient as Rohit. Ram can complete a
work in 60 days less than Rohit. If both of them work together
then in how many days the work would be completed ?

33;
(a

122
(b)

(c)15

25
(d)

Q83. A boat travels 24 km upstream in 6 hours and 20 km down-
stream in 4 hours. Then the speed of boat in still water and the
speed of water current are respectively.

(@) 4 kmph and 3 kmph

(b) 4.5 kmph and 0.5 kmph

(c) 4 kmph and 2 kmph

(d) 5 kmph and 2 kmph

Q8. In a college, 40% of the students were allotted group A,
75% of the remaining were given group B and the remaining 12
students were given group C. Then the number of students who
applied for the groups is

(a) 100

(b) 60

(c) 8o

(d) 92

Q8s. A person borrowed a loan of Rs. 5600 for three years on
simple interest. At the end of three years he returned Rs. 7000
to clear the principal and interest. What is the rate of interest per
annum?

(a) 8.33%

(b) 13%

() 37.5%

(d) 11%

Q86. Charu borrowed a loan of Rs. 1,00,000 from a bank at 8%
per annum simple interest to buy a shop. He rented the shop for
Rs. 1875 per month. If he used 80% of the rent amount to
discharge the loan, then how much time would he clear the loan
including interest?

(a) 10 years

(b) 8 years

(c) 10 years 4 months

(d) 8 years 4 months

Q8y. In what ratio must a grocer mix teas at Rs. 60 a kg, and Rs.
65 a kg, so that by selling the mixture at Rs. 68.20 a kg, he may
gain 10%?

(@)3:2

(B)3:4

(3:5

(d4:5

Q88. The sum of present ages of A and Bis 7 times the difference
of their ages. 5 years hence, their total ages will be g times the
difference of their ages. What is the present age of elder one (in
years) ?

(a) 25

(b) 20

(@15

(d) 18

Q8g. A ball bounces from a hard floor after falling from 10 meter
of height. During collision its energy reduces by 20%. Up to what
height it will bounce now ?

(@)2m.

(b) 8 m.

(c) 4 m.

(d) 6 m.

Qgo. Two ships are sailing in the sea on the two sides of a
lighthouse. The angle of elevation of the top of the lighthouse is
observed from the ships are 30° and 45° respectively. If the
lighthouse is 100 m high, the distance between the two ships is:
(@)173m
(b) 200 m
(c)273m
(d)300m

Qg1. The average weight of g items is 15kg. If one more item is
added in the series the average becomes 16kg. What is the
weight (in kg.)of the 10" item?

(a) 24

(b) 25

(c) 26

(d) 23

Qg2. Theratio of the present ages of the son, mother, father and
grandfather is 2:7:8:12 respectively. The average age of the son
and mother is 27 years. What will be the age of the mother 7
years later?

(a) 40 years

(b) 41 years

(c) 36 years

(d) none of these

Q93. Ruchita got 43 in Hindi, 45 in Science, 67 in Math, 89 in
social science and 65 marks in English. The maximum marks in
each subject are 120. How much is her total percentage marks?
(a) 55.1%

(b) 51.5%

(c) 65%

(d) 62%
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Qg4. Ram donated 4% of his income to charity and deposited
10% of the rest in a bank. If now he has Rs. 8640 left with him,
then his income is

(a) Rs.12500

(b) Rs.7500

(c) Rs.8000

(d) Rs. 120000

Qgs. The ratio of my income in two consecutive years is 2:3 and
that of expenditure is 5:9 . if my income in second year is Rs.
45000 and my expenditure in first year is Rs. 25000 then total
saving in two years together is

@)o

(b) Rs. 15000

(c) Rs. 10000

(d) Rs. 5000

Qg6. After giving two successive discounts of 20% and 25% a
cycle is sold for Rs 4200. What is the marked price (in Rs) of the
cycle?

(a) 7200

(b) 7000

(c) 6500

(d) 6200

Qg7. In a bag, three types of , Rs.1, 50 paise and 25 paise coins
are there whose total number is 175. If the total value of each
type of coins is same , then what is the total value of coins in the
bag?

(@) Rs.75

(b) Rs. 275

(c) Rs. 300

(d)Rs. 126

Qg8. The difference between the simpleinterest received from
two different sources on Rs. 1500 for 3 years is Rs. 13.50. The
difference between their rates of interest is

(a) 0.1%

(b) 0.2%

(c)0.3%

(d) 0.4%

Qgg9. A pole is broken by the storm of wind and its top struck the

ground at an angle of 45° and at a distance of 25 m from the foot
of the pole. The height of the pole before it was broken was ?

252 m
(a)

25(1++2)m
®) ( )

=
(C)ED\,Em

2543
(d 3

m

Qz100. A sum of money at compound interest becomes Rs. 650
atthe end of one year and Rs. 676 at the end of second year. The
sum of money is

(a) Rs 600

(b) Rs 540

(c) Rs 625

(d) Rs 560

Q101. Two buses departed for a place respectively at 45 km/h
1

and 60 kmj/h. if the second bus took 2 hours less to reach the
destination then what was the distance of the journey?

(a) 200 km

(b) 945 km

(c) 990 km

(d) 2350 km

Q102. The minimum fare of an auto-rickshaw for first 1.2 km is
Rs. 6.50 later, 60 paisa is added for every 100 m. How much will
a person pay for covering 4.8 km?

(a) Rs 8.66

(b) Rs 25.20

(c) Rs 21.50

(d) Rs 28.10

Q103. A boat covers 30 km upstream and 44 km downstream in
10 hours. The same boat takes 13 hours to cover 40 km upstream
and 55 km downstream. What is the speed of the boat in still
water?

(@) 8 km/h

(b) 3.6 km

(e) 2.88 km

(d) 2.4 km

Q104. A and B complete a work alone in 10 hours and 20 hours
respectively. After working for 5 hours together A left the work
then in how much time would B complete the rest work?

(@) 5 hrs

(b) 4 hrs

(c)3hrs

(d) 20 hrs

Q1o05. Three taps A, B and C can fill a tank respectively in 12, 15
and 20 hours. If tap A is open through out and taps B & C are
opened alternatively for one hour then in how much time will the
tank full?
6 hours

(@)

1
6 =hours
(b) 2
(c)? hours

?lhours
d 2
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Q106. In an examination a student scored 4 marks for every
correct answer and losed 1 mark for every lose answer. A student
attempted all the 200 questions and scored in all, 200 marks.
The number of questions he answered correctly was

(a) 82

(b) 8o

(c) 68

(d) 60

Qz07. A person was asked to state his age. His reply was — “Take
my age 3 years hence, multiply it by 3, subtracts the triple of my
age 3 years ago and you will know how old | am.” What is the
present age of the person (in years)?

(a) 24

(b) 20

(032

(d)18

Q108. In a survey, it was found that 30% if people use cellular
phone and 75% of them used computer. If 25% of people have
both cellular phone and computer, then what is the percentage
of people who have either cellular phone or personal computer
or both?

(a) 60%

(b) 70%

(c) 80%

(d) 100%

Q101. Aand B candoaworkin18and 24 days respectively. They
worked together for 8 days and then A left. The remaining work
was finished by B in:

(@) 5 (*;)days

(b) 5days

(c) 8 days

(d) 10 days.

Q102. The distance between two cities Y and Z is 330 kms. A
train starts from Y at 8 a.m. and travels towards Z at 60 kmph.
Another train starts from Z at g a.m. and travels towards A at 75
kmph. At what time do they meet?

(@)10a.m.

(b) 20.30 a.m.

(c)11a.m.

(d)21:30 a.m.

Q103. The average of 7 numbers is 8. If one number is added,
their average is 9. Then the added number is

(a) 12

(b)12

(c)16

(d) 14

Q104. Ten years ago, the average age of a family of 4 members
was 25 years, 2 children having been born (with age difference 2
years), the present average age of the family is the same. The
present age of the youngest child is —

(a) 1 year

(b) 2 year

(c) 3 year

(d) 4 years.

Q105. The present age of Ravi’s father is four times of Ravi's
present age. Five years back he was seven times as old as Ravi
was at that time. What is the present age of Ravi's father?

(a) 84 years

(b) 70 years

(c) 40 years

(d) 35 years

Q106. On selling an article for Rs. 240, a trader loses 4 %. In
order to gain 10 %, he must sell the article for

(a) Rs. 275

(b) Rs. 280

(c) Rs. 285

(d) Rs. 300

Qz07. A certain sum at simple interest amounts to Rs. 1350 in 5
years and to Rs. 1620 in 8 years. What is the sum?

(a) Rs. 700

(b) Rs. 800

(c) Rs. goo

(d) Rs. 1000

Q108. The compound interest on a sum for 2 years is Rs. 832 and
the simple interest on the same sum at the same rate for the
same period is Rs. 80o. What is the rate of interest?

(@) 6%

(b) 8 %

(c)10%

(d)12%

Q109. Aand B candoaworkini18and 24 days respectively. They
worked together for 8 days and then A left. The remaining work
was finished by B in:

(a) 5 (*x)days

(b) 5 days

(c) 8 days

(d) 10 days.

Qa10. The distance between two cities Y and Z is 330 kms. A
train starts from Y at 8 a.m. and travels towards Z at 60 kmph.
Another train starts from Z at g a.m. and travels towards A at 75
kmph. At what time do they meet?

(@)10a.m.

(b) 10.30 a.m.

(c)11a.m.

(d) 212:30 a.m.
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Q111. The average of 7 numbers is 8. If one number is added,
their average is 9. Then the added number is

(a) 12

(b) 11

(c) 16

(d) 14

Qz112. Ten years ago, the average age of a family of 4 members
was 25 years, 2 children having been born (with age difference 2
years), the present average age of the family is the same. The
present age of the youngest child is —

(a)1year

(b) 2 year

(c) 3 year

(d) 4 years.

Q113. The present age of Ravi’s father is four times of Ravi's
present age. Five years back he was seven times as old as Ravi
was at that time. What is the present age of Ravi’s father?

(a) 84 years

(b) 70 years

(c) 40 years

(d) 35 years

Q114. On selling an article for Rs. 240, a trader loses 4 %. In
order to gain 10 %, he must sell the article for

(a) Rs. 275

(b) Rs. 280

(c) Rs. 285

(d) Rs. 300

Qz115. A certain sum at simple interest amounts to Rs. 1350 in 5
years and to Rs. 1620 in 8 years. What'is the sum?

(a) Rs. 700

(b) Rs. 800

(c) Rs. goo

(d) Rs. 1000

Q116. The compound interest on a sum for 2 yearsis Rs. 832 and
the simple interest on the same sum at the same rate for the
same period is Rs. 800. What is the rate of interest?

(a) 6%

(b) 8%

(c)10%

(d)12%

Qz117. A tap supplies 8 litres of water per minute into a cistern.
A leak at the bottom of the cistern can empty the cistern in 10
hours. A full tank with the tap open is emptied by the leak in 15
hours. What is the capacity of the tank?

(a) 15,000 litres

(b) 12,800 litres

(¢) 24,400 litres

(d) 23,400 litres

Q118. A motorboat, whose speed is 15 km/hr in still water goes
30 km downstream and comes back in a total of 4 hours 30
minutes. The speed of the stream (in km/hr) is

(a)2 km/hr

(b)3 km/hr

(c)4 km/hr

(d)5 km/hr

Q119. Amit can row a boat d km upstream and the same
distance downstream in 5 hours 15 minutes. Also, he can row the
boat 2d km upstream in 7 hours. How long will it take to row the
same distance 2d km downstream for Amit?

(@) 4 hrs 15 min

(b) 3 hrs 25 min

(c) 3 hrs30 min

(d) 4 hrs 30 min

Q120. The population of a town increased from 1,75,000 to
2,62,500 in a decade. The average percent increase of
population per year is:

(a) 4.37%

(b) 5%

(c) 6%

(d) 8.75%

Qi21.Virat travelled 75 kms in 7 hours. He went some distance
at the rate of 12 km/hr and the rest at 20 km/hr. How far did he
travel at the rate of 12 km/hr?

(a) 30 kms

(b) 25 kms

(c) 40 kms

(d) 35 kms.

Q122. Two mixtures have milk and water in theratio1: 4and 3:
2 respectively. In what ratio two types of mixtures have to be
mixed to get a new mixture having ratio of milk and wateras1:
1?

(@s4:3

(b)5:3

()3:2

(d)2:3

Q123. The ratio of savings to expenditure of a personis 2 : 3. If
his savings increases by 6% while his income increases by 15%
then by how much percentage did his expenditure increase?

(a) 21%

(b) 24%

(c) 12%

(d) 25%

Q124. A started a business with a capital of Rs. 1,00,000. One
year later, B joined him with a capital of Rs. 2,00,000. At the end
of 3 years from the start of the business, the profit earned was
Rs. 84,000. The share of B in the profit exceeded the share of A
by.

(a) Rs. 10,000

(b) Rs. 12,000

(c) Rs. 14,000

(d) Rs. 15,000.
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Qz125. A certain amount of money is divided among A, B and C.
If A receives 25% more than B and B receives 25% less than C,
then A:B: Cis,

(@)12:10:12

(b)10:9:12

(c)15:12:16

(d)24:12:13

Q126. When the price of rice is increased by 25 percent, a
family reduces its consumption such that the expenditure is
only 10 percent more than before. If 40 kg of rice is consumed
by family before, then find the new consumption of family.
(a)37.6k.g

(b) 35.2k.g

(c)36.8k.g

(d) 34.4k.g

Qa127. Delhi Municipal Corporation increases the price of water
by 20%, while the consumption of water decreases by 20%.
What is the final increase or decrease in the expenditure of a
family?

(a) 4% increase

(b) 4% decrease

(c) 8% increase

(d) 8% decrease

Q128. In an examination the minimum passing marks for
reserved and unreserved category is 40% and 54% respectively.
A candidate of unreserved category got 300 marks and failed by
24 marks. What is the minimum passing markfor reserved
category?

(a) 280

(b) 254

(c) 230

(d) 240

Q129. A shopkeeper earns a profit of 24% on selling a cycle for
Rs 2850. If the profit is kept as 8% then-what willibe the selling
price?

(a) Rs 2600

(b) Rs 2700

(c) Rs 2800

(d) Rs 3000

Qzx30. The ratio of the cost price and selling price of an item is
10: 11, and then percentage profit will be

(a) 8%

(b) 10%

(c) 11%

(d) 15%

Q131. Rice at Rs. 126 per kg and rice at Rs 135 per kg are mixed
with a third type of rice in the ratio of 1:1: 2. If the value of this
mixture is Rs 153 per kg then what is the price per kg of the third
type of rice?

(a) Rs169.50

(b) Rs175.50

(c) Rs175

(d) Rs185

Q132. A and B enter into a partnership with capitals in the ratio
5 : 6. At the end of 8 months A withdraws his capital, if they
receive profits in the ratio 5 : 9; B invested the capital for

(a) 6 months

(b) 8 months

(c) 20 months

(d) 12 months

Q133. Rs. 2000 amounts to Rs 2600 in five years at a certain rate
of simple interest. If the rate of interest is 3% more than the
previous rate, then in the same time period, the same sum will
amount to
(a) Rs 2700
(b) Rs 2800
(c) Rs 2900
(d) Rs 3000

Q134. If the difference between Sl and Cl for 2 years on a sum of
money lent at 5% is Rs 6, then the sum is

(a) Rs 2200

(b) Rs 2400

(c) Rs 2600

(d) Rs 2000

Q135. Train A crosses a pole in 25 sec and another train B crosses
a pole in 1 min 15 sec. The length of train A is half of the length
of train B. What is the ratio between the speed of Train A and
TrainB?

(@3:2

(b)3: 4

(@) 4:3

(d) None of these
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Q136. A boat takes 3 hours to go upstream from B to A and
downstream from A to B. If the speed of the boat in still water is
9 km/h and the speed of the stream is 3 km/h then, what is the
distance (in km)between A and B?

(a) 12

(b)7.5

(c)6

(d) 4

Q137. Two places A and B are 1200 km apart on a highway. One
car starts from A and another from B at the same time. If the cars
travel in the same direction at constant speed, they meet in 5
hours. If the cars travel towards each other, they meet in one
hour. What is the speed of the car running faster?

(a) 6o km/h

(b) 5o km/h

(c) 40 km/h

(d) 32 km/h

Q138. Hari and Ravi accepted to complete a work in Rs 375. Hari
alone can complete that work in 20 hours and Ravi alone can
complete that work in 30 days. With the help of Shyam they
complete the work in 8 hours then how much labour charge
should they give to Shyam?

(a) Rs 100

(b) Rs 125

(c)Rs175

(d) none of these

Q139. A pipe can fill a tank completely in 16 hours but due to
leakage in the bottom it gets filled in 24 hours. If the tank is full,
how many hours would the leak take to empty the cistern?

(a) 48 hours

(b) 36 hours

(¢) 44 hours

(d) 42 hours

Qz40. There are some boys and some girls in a room. The square
of the number of girls is 28 less than the square of the number of
boys. If there were two more girls then the number of boys and
girls would have been same. What is the total number of boys
and girls in the room?

(a) 56

(b) 24

(c) 10

d7

Qa4a. Traffic lights at a road crossing changes in every 25
seconds.On the next crossing the traffic lights changes in every

30 seconds. If they both change simultaneously at the same
time, then at what time of interval they again change together?

(a) 2% minute
(b) 1% minute

(c) 3 minute
(d) 5 minute

Q142. The sum of present ages of A and B is 7 times the
difference of their ages. 5 years hence, their total ages will be g
times the difference of their ages. What is the present age of
elder one (in years)?

(a) 25

(b) 20

(0)15

(d) 18

Q143. Krishnamoorthy earns Rs 15000 per month and spends
80% of it. Due to revise in salary his monthly income has
increased by 20% but due to price hike he has to spend 20%
more. What is his new savings?

(a) Rs 3400

(b) Rs 3000

(c) Rs3600

(d) Rs 4000

Q144. An aero plane when flying at a height of 2500 m from the
ground level passes vertically below the another plane at an
instant when the angles of elevation of two planes from the
same point are 30° & 60° respectively. The distance between the
two planes at that instant is —

(a) 6250 m

(b) 6000 m

(c) sooom

(d) 6520 m

Qi45. A car left 3 minutes early than the scheduled time and in
order to reach the destination 126 km away in time, it has to slow
its speed by 6 km/h from the usual. What is the usual speed (in
km/hr) of the car?

(@) 56

(b) 63

(0 94.5

(d) 126

Q146. The price of motor cycle depreciates every year by 10%.
If the value of the motor cycle after 3 years will be Rs 36450, Then
what is the present value (in Rs) of the motor cycle?

(a) 45000

(b) 50000

(c) 48000

(d) 51000

Q147. The average age of 6 members of a family is 25 years. If
the youngest member of the family is 15 years old, then what
was the average age (in years) of the family at the time of the
birth of the youngest member?

@9

(b) 12

(c)18

(d) 24

12 | www.teachersadda.com

www.sscadda.com |

www.careerpower.in | Adda247 App


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

CEE
addaay

Numerical Ability for IAF AFCAT 1 2022 Download PDF

&P
addazyi

Q148. A and B together can complete a work in 30 day. They
started together but after 6 days A left the work and the work is
completed by B after 36 more days. A alone can complete the
entire work in how many days?

(@) 45

(b) 90

(c) 60

(d) 120

Q149. On an article the profit is 2120% of the cost price. If the
cost price increases by 40% but the selling price remains
constant, then approximately what percentage of selling price
will be the profit?

(a)s5

(b) 62

(@) 74

(d)8s

Qi50. A boat travels 60 kilometers downstream and 20
kilometers upstream in 4 hours. The same boat travels 4o
kilometers downstream and 4o kilometers upstream in 6 hours.
What is the speed (in km/hr) of the stream?

(a) 24

(b) 16

(c)18

(d) 20

Qa51. The average of 5 consecutive odd numbers is 27. What is
the product of the first and the last number?

(a) 621

(b) 667

(0713

(d) 725

Qa152. 50 trees are standing in a line such that distance between
any two consecutive trees is same. A car takes 18 seconds to
travel from 13t tree to 34 tree. How much time (in seconds) will
it take to reach from 1%t tree to 5ot tree?

() 42

(b) 42.85

(€) 45

(d) 49

Q153. Three bottles of equal capacity contain mixture of milk
and water in ratio 2: 3, 3: 5 and 4 : 5 respectively. These three
bottles are emptied into a large bottle. What is the ratio of milk
and water respectively in the large bottle?

(a) 439:1080

(b) 439 : 641

(c) 439: 360

(d)439:79

Q154. Ram is five times as efficient as Rohit. Ram can complete
a work in 60 days less than Rohit. If both of them work together
then in how many days the work would be completed ?
1
33-
(@ 2

12>

-

(b) =

(d) 25

Qas5. A boat travels 24 km upstream in 6 hours and 20 km
down-stream in 4 hours. Then the speed of boat in still water and
the speed of water current are respectively.

(@) 4 kmph and 3 kmph

(b) 4.5 kmph and o.5 kmph

(c) 4 kmph and 2 kmph

(d) 5 kmph and 2 kmph

Q156. In a college, 40% of the students were allotted group A,
75% of the remaining were given group B and the remaining 12
students were given group C. Then the number of students who
applied for the groups is

(a) 200

(b) 60

(c) 8o

(d) 92

Qas7. A person borrowed a loan of Rs. 5600 for three years on
simple interest. At the end of three years he returned Rs. 7000
to clear the principal and interest. What is the rate of interest per
annum?

(a) 8.33%

(b) 13%

(€) 37.5%

(d) 11%

Q158. Charu borrowed a loan of Rs. 1,00,000 from a bank at 8%
per annum simple interest to buy a shop. He rented the shop for
Rs. 1875 per month. If he used 80% of the rent amount to
discharge the loan, then how much time would he clear the loan
including interest?

(a) 10 years

(b) 8 years

(c) 10 years 4 months

(d) 8 years 4 months

Q159. In what ratio must a grocer mix teas at Rs. 60 a kg, and
Rs. 65 a kg, so that by selling the mixture at Rs. 68.20 a kg, he
may gain 10%?

(@)3:2

(b)3:4

(@3:5

d4:5
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Q160. The sum of present ages of A and B is 7 times the
difference of their ages. 5 years hence, their total ages will be 9
times the difference of their ages. What is the present age of
elder one (in years) ?

(@) 25

(b) 20

(c)15

(d) 18

Q161. A ball bounces from a hard floor after falling from 10
meter of height. During collision its energy reduces by 20%. Up
to what height it will bounce now ?

@)a2m.

(b) 8 m.

(©4m.

(d)6m.

Q162. Two ships are sailing in the sea on the two sides of a
lighthouse. The angle of elevation of the top of the lighthouse is
observed from the ships are 30° and 45° respectively. If the
lighthouse is 100 m high, the distance between the two ships is:
(@173 m
(b) 200 m
(c)273m
(d)300m

Q163. Seats of a cinema hall is increased by 25% and the price
of a ticket is increased by 10%. What is the percentage increase
in total income?

(a) 10.5%

(b) 27.5%

(c)37.5%

(d) 40.5%

Q164. A train crosses a man standingon'the platform in 10 sec
while an another train coming in from opposite direction crosses
the manin 18 sec. If the length of the second train is one and half
times of the first train then in what time will they cross each
other?

13sec

(@) 11

1li_sec
(b) 11

leec
() 11
15—sec
11
(d)

Q165. A is twice efficient than B in a work and B is twice efficient
than C. If A and B complete a work in 4 days then C alone can
complete that work in

(a) 6 days

(b) 8 days

(c) 24 days

(d) 12 days

Q166. The difference between compound interest (annually)
and simple interest on a certain sum at 10% per annum for 2 yrs
is Rs 42. What is the sum?

(a) Rs 5200

(b) Rs 4200

(c) Rs 8400

(d) Rs 2100

Q167.

(03205 +(045)5—{0.77)°

- - ]
The value of 31 (032)(0.45)(0.77) will be

(a)a
(b)o
(€) -1/27
(d)1/27

Q168. Kamal is 5 times older than her sister Geeta, who is 2 yrs
younger than her brother Ram. If Ram is 8 yrs old, what will be
the age of Kamal?

(a)30yrs

(b) 24 yrs

(c) 4o yrs

(d) 28 yrs

Q169. There are 5o students in a class. One boy among them,
whose weight is 51 kg leaves the class and a new boy admits in
the class. Due to this the average weight of the class increases
by 1/2 kg. The weight of newly admitted student is

(a)73kg

(b) 76 kg

(©74kg

(d)75kg

Q170. The sum of two numbers is 216 and their HCF is 27. How
many such pairs of these numbers are there?

@1

(b) 2

(93

(d)o

Qa71. Six persons went to a hotel to take launch. Five among
them spend Rs 32 each on their food while the 6" person spends
Rs 80 more than that of the average expense of 6 persons. How
much they spent all together?

(a) Rs192

(b) Rs 240

(c) Rs 288

(d)Rs 336

Q172. In a fort there was sufficient food for 24 weeks for 200
soldiers. 8o more soldiers join the group at the end of one week
and quantity of food served to each soldier was reduced from
900 gm to 750 gm. How many more days the rest food would
last?

(a) 69

(b) 138

()92

(d) 276
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Q173. 4 examiners examines some answer sheets in 10 days
working 5 hours daily. If 2 examiners has to examine double of
the answer sheets in 20 days then how many hours will they have
to work daily?

8 hours
@ -

1
7 ~hours
(b)y =
© 10 hours

8 qihcurs
d -

None of these
(e)
Q174. A sum at simple interest, doubles itself in 10 yrs. In how
much time will it become triple of the original sum?
(a) 15 yrs
(b) 18 yrs
(c) 20yrs
(d)30yrs

Q175. In a bag there are 5o paise and 25 paise coins in equal
number. If their total value is Rs 45, then what is the total
number of coins in the bag?

(a) 6o

(b) 120

(c)30

(d) 90

Q176. A person pays Rs 17000 for a motorcar when a single
discount of 15% is provide. How much will he have to pay if he
gets two successive discount of 10% and 5% are allowed?

(a) Rs 17,000

(b) Rs 17,010

(c) Rs 17,1200

(d) Rs 18,900

Q177. The price of a diamond is directly proportional to the
square of its weight. A diamond broke in three pieces in such a
way that the ratio of their weightis 2:3: 5. There is a loss of Rs
31000 by selling broken pieces of diamond, then what was the
price of unbroken diamond?

(a)Rs. 25,000

(b) Rs.1,00,000

(c) Rs.5,00,000

(d) Rs.50,000

Q178. A boat (in still water) can row at a speed of 13 km/h. If the
speed of the stream is 4 km/h, then how much time will the boat
take to row 68 km downstream?

(a) 2 hours

(b) 8 hours

(c) 3 hours

(d) 4 hours

Q179. 10 is added to a certain number, the sum is multiplied by
7. The product is divided by 5 and 5 is subtracted from the
effective value.that value is equal to half of 88. What is the
number

(a) 22

(b) 20

(c) 25

(d)30

Q180. A minar is 8oo m high from sea’s surface. A guard sees a
yacht of enemy from minar, which makes an angle of depression
60°. Find the distance between yacht and foot of the minar ?
(a) 6oom

(b)180 /3 m

(c) 800/4/3m

(d)160v3m

Q181. 5/7 of a piece of work was completed by 15 men in one
week. Then the number of men, who must be required to
complete the remaining work in next week is:

(a)8

(b)6

(c) 14

(d)s

Q182. The average marks of a student in four subjects is 8. If
the student obtained 60 marks in the 5t subject then the new
average will be?

(a)78

(b) 8o

(c)90

(d) can’t be determined

Q183. In a family the ratio of expenses to the savings is 5:4. But
his expenses isincreased by 40% and income is increased by only
25%. Thus there is increase of Rs 500 in the saving. Find the
increased income of the family?

(a) Rs 22500

(b) Rs 26500

(c) Rs 19250

(d)Rs 11250

Q184. A carriage driving in fog passed a man who was walking
at the rate of 4km an hour in the same direction. The man can
see the carriage for 1 minute and was visible to him upto a
distance of 100m. Find the speed of carriage?

(a) 8 km/hr

(b) 11 km/hr

(c) 20 km/hr

(d) 4.5 km/hr

Q185. The average age of a group of persons going for a picnic
is 17.75 years. 12 new persons with an average age of 14.25 years
join them due to which the average age of group becomes 16
years. Find the number of persons initially.

()11

(b) 12

(0) 14

(d) 10
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Q186. The ratio of speeds of a motor boat to that of current is
5:1. The motor boat goes along with the current in 6hr. Find the
time to come back of motor boat.

(@) 7.5 hr.

(b) 8 hr.

(c) 6 hr.

(d) 9 hr.

Q187. On selling an article for Rs 600. The loss accrued is 25%.
To make of 20% profit, the article must be sold at?

(a) Rs 1080

(b) Rs 880

(c) Rs 960

(d) Rs 1040

Q188. Arun bought a scooter for a certain sum of money. He
spends 20% of cost price on repair and sold it for a profit of 25%
at Rs 30000. What is C.P. of scooter?

(a) Rs 20000

(b) Rs 18750

(c) Rs 22500

(d) Rs 19500

Q189. Population of Delhi increases 12% every year. If the
current population of Delhi is 15680, then what was its
population 2 years ago.

(a) 1250

(b) 225000

(c) 12500

(d) 22050

Q1g9o. In a school % of the boys are same in number as 10% of
total boys and girls. Find the ratio of boys and girls?

(@) 5:2

(b) 2:3

(c)1:2

(d) 3:4

Q191. What time taken by sum of Rs goooto becomes Rs13500
at the rate of 10% per annum?

(a) 8 year

(b) 3.5 year

(c) 10 year

(d) 5 year

Qi92.
(4x* —3y*):(2x* 4+ 5y%) = 12: 19 find (x: y)

(a) 3:5
(b) 2:3
(€)5:3
(d)3:2

Q193. In an examination, a student was asked to find 3/14 of a
certain number. By mistake, he found 3/4 of it. His answer was
150 more than the correct answer. Find the number.

(a) 180

(b) 280

(c)380

(d) 480

Q194. A worker may claim Rs. 1.5 for each km which he travels
by taxi and 5o paise for each km he drives his own car. If in one
week he claimed Rs. 5o for travelling 8o km, how many kms did
he travel by taxi?

(a) 20 km

(b) 14 km

(c) 22 km

(d) 20 km

Q195. A can do a piece of work in 10 days. He works at it for 4
days and then B finishes it in g days, in how many days can A and
B together finish the work?

(a) 6 days

(b) 8 days

(c) 8 ¥adays

(d) 7 ¥4 days

Q196. Two numbers are in the ratio 2: 5. When 4 is added to
each, the ratio becomes 1: 2. Then, the numbers are.

(a) 6 & 15

(b) 120 & 25

(c)8 & 20

(d)2.5&6.5

Q197. A man, awoman and a boy can together complete a piece
of work 3 days. If a man alone can do it in 6 days and a woman in
18 days, how long will a boy alone take to complete the work?
(a) 9 days

(b) 12 days

(c) 7 days.

(d) 12 days

Q198. Rahul is 15 years younger than Rohan. Rahul’s age is 40%
of the sum of his and Rohan’s age. Find age of Rohan.

(a)3o0yr

(b) 45yr

() 48yr

(d)asyr
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Q199. If a shopkeeper sells 25 articles at Rs. 5o per article after
giving 20% discount and earns 20% profit. If the discount is not
given then profit gained is.

(a) 43.34%

(b) 50.09%

(c) 49.01%

(d) 56%

Q2o00. Arun is travelling on his cycle and has calculated that he
will reach at 11 am, if he travel at 10 km/hr. He will reach there at
g am, if he travel at 12 km/hr. At what speed must he travel to
reach there at 10 am.
9= km/h.
@
132 km/h.
® 7
102 km/h.
©

9.5 km/h.
(d)

Q201.

fA=2"x%x3"%«x5and B=2°% 3 x 11. Then HCF of A |

(a)32x 23
(b) 6 x 22
(c) 6 x 23
(d)3x22%4

Q202. What is third proportional to g and 15?
(a)30
(b)35
(c) 48
(d)2s

Q203. The difference between thesSilzand C.I. obtained on
principal at x p.c.p.a after 2 years is Rs.25. If principal is Rs:-625,
find x.

(a) 23%

(b) 20%

(c) 24%

(d) 18%

Q204.
& i T

If (81} _XEZH. WS
(72gpr+s

(a) 7/23

(b) 9/13

(€) 4/12

(d) 517

Q205. A person can swim in still water at 5 km/hr. If the speed of
water is 3 km/hr. How many hours will the man take to swim
against the current for 12 km.

(@) 4 hr.

(b) 5 hr.

()6 hr.

(d) 6.5 hr.

= 3% find x.

Q206. Three containers contain 273 lit, 315 litand 336 lit of petrol
respectively. Then the minimum capacity of container that can
measure the diesel for the three containers in exact number is:
(a) 27 lit

(b) 129 lit

(c) 21 lit

(d)32lit

Q207. Cost Price of 7 books is equal to Selling Price of 5 books.
Find profit or loss per cent?

(a) profit 4£0%

(b) loss 40%

(c) profit 25%

(d) loss 20%

IfA:B:C=2:3:5, then ﬁndg : §=

| ™

Q208.
(a) 20:18:75
(b)2:3:5

(c) 18 :20:45
(d) 10:9:25

Q209. The salaries of A, B, C are in the ratio 2:3:5. If the
increments of 15%, 10% and 20% are allowed respectively in
their salaries, then what will be the new ratio of their salaries.
(@)3:3:10

(b)10:121: 20

(c)23:33:60

(d)25:27:29

Q210. Profit earned by selling an article at Rs. 1630 is same as
the loss incurred by selling the article for Rs 1320. What is the
cP?

(@) Rs 1475

(b) Rs 1300

(c) Rs 1350

(d) Rs 1275

Q211. How many natural numbers less than 1000 are divisible by
5 or7but NOT by 35?

(a) 285

(b) 313

() 341

(d) 243

. 0.74%1,23%0.13
What is the value of -7
(0,373 +(0.41)% -8(0.39)°

-1
(a) 3
by 1
© 1

1
(d) *
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Q213. Let x be the least number of 4 digits that when divided by
2, 3, 4, 5, 6 and 7 leaves a remainder of 1 in each case. If x lies
between 2000 and 2500, then what is the sum of the digits of x?
@9

(b) 15

(c)10

(d) 4

Q214. The total number of students in sections A and B of a class
is 72. The ratio of the number of studentsin Aand Bis 7: 5. The
average weight (in kg) of the students in section B is 20% more
than that of the students in section A. If the average weight of
all the students in the class is 52 kg, then what is the average
weight (in kg) of the students in section B?

(a) 58.2

(b) 57.9

(c)57.6

(d) 56.4

Q215. Raghu sold an article for Rs180 after allowing a 20%
discount on its marked price. Had he not allowed any discount;
he would have gained 20%. What is the cost price of the article?
(a) Rs190.40
(b) Rs192.80
(c) Rs188.60
(d) Rs187.50

Q216. A is 40% less than B, and C is 40% of the sum of A and B.
The difference between A and B is what percentage of C?

(a) 60.5%

(b) 64%

(c) 62.5%

(d) 60%

Q217. A can do 4/5 of a work in 20 days and B can do 3/4 of the
same work in 15 days. They work together for 10 days. C alone
completes the remaining work in 1 day. B and C together can
complete 3/4 of the same work in:

(a) 8 days

(b) 5 days

(c) 4 days

(d) 6 days

Q218. What is the compound interest on a sum of Rs37,500 for

1% years at a rate of 12% p.a. if the interest is compounded 8-

monthly?

(a) Rs6,440
(b) Rs6,240
(c) Rs6,420
(d) Rs6,448

Q219. A person invested a sum of Rs18,600 at x% p.a. and
another sum that is twice the former at (x + 2) % p.a., both at
simple interest. If the total interest earned on both investments

for 3% years is Rs23,110.50, then the rate of interest p.a. on the

second investment is:
(a) 11%

(b) 20.5%

(c)13%

(d) 12.5%

Q220. Sujatha sold 75% of her goods at a profit of 24% and the
remaining at a loss of 40%. What is her gain/loss percentage on
the whole transaction?

(a) 8% gain

(b) 10% gain

(c) 9% loss

(d) 7.5% loss

Q221. A man spends 2/3™ of his income. If his income increases
by 14% and the expenditure increases by 20%, then the
percentage increase in his savings will be

(@) 1%

(b) 2%

(c) 4%

(d) 6%

Q222. An article is sold for Rs680 after two successive discounts
of 20% and x% on its marked price. The marked price of the
article is Rs1,000. What is the value of x?

(a) 15

(b) 15.5

(c)12.5

(d) 16

Q223. A and B started travelling towards each other at the same
time, from places X to Y and Y to X, respectively. After crossing
each other, A and B took 2.45 hours and 4.05 hours to reach Y
and X, respectively. If the speed of B was 8.4 km/h, then what
was the speed (in km/h) of A?

(a)10.8

(b) 9.9

(c)12.6

(d)11.7

Q224. In a test consisting of 140 questions, a candidate correctly
answered 70% of the first 8o questions. What percentage of the
remaining questions does the candidate need to correctly
answer to score 60% in the test?

(a) 40%

45 105
(b)y 3

(C)-‘-}Er E%
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Q225. A train of length 212 mis running at 45 km/h. In what time
(in seconds) will it cross a platform of length 188 m?

(a)36

(b) 42

(032

(d) 40

Q226. The average of eleven numbers is 68. The average of the
first four numbers is 78 and that of the next four numbers is 63.
The 9*" numberis two times the 12" number and the 10" number
is 4 less than the 11*" number. What is the average of the 9" and
11" numbers?

(a) 72.6

(b)70.1

(c)72.2

(d)70.5

Q227. A can do % of a work in 12 days while B can do 66%: % of
the same work in 16 days. They work together for 10 days. B
alone will complete the remaining work in:

(a) 6 days

(b) 4 days

(c) 8 days

(d) 9 days

Q228. If x is subtracted from each of the numbers 20, 37, 54 and
105, then the numbers so obtained in this order are in
proportion. What is the mean proportional between (7x — 5) and
(x+1)?

()8

(b) 6

(c)12

(d)9

Q229. When 3738, 5659 and 9501 are divided by the greatest
possible number x, the remainder in each case is y. What is the
sum of x and y?

(a)3738

(b) 3783

(c)3673

(d) 3637

Q230. If 60% of (x —y) = 45% (x + y) and y = k% of x, then 21% of
k is equal to:

(@7

(b)6

(93

(d)2

Q231. The compound interest amounts on a certain sum at a
certain rate percentage p.a. for the second year and third year
are Rs. 3,300 and Rs. 3,630, respectively. What is the amount of
the same sum at the same rate in 2 %% years, interest
compounded yearly?

(a) Rs. 37,215

(b) Rs. 36,300

(c) Rs. 38,115

(d) Rs. 36,000

Q232. Pipes A and B are emptying pipes and can empty a tank
in 6 hours and 16 hours, respectively. C is a filling pipe. All the
three pipes were opened together. They took 8o minutes to
empty 5/28" of the tank. Pipe C alone can fill the tank in:

(a) 48 hours

(b) 42 hours

(c) 40 hours

(d) 36 hours

Q233. In finding the HCF of two numbers by division method,
the quotients are 1, 8 and 2 respectively, and the last divisor is
105. What is the sum of the numbers?

(a) 3570

(b) 3885

(c)3780

(d) 3675

Q234. By selling an article for Rs.1,134, Anu suffers as much loss
as she would have gained by selling it at 10% profit. If she sells it
for Rs.1,354.50, then her profit percentage is:

(@9

(b) 8

(©)8.4

(d)7.5

Q235.

1 1 1 1 1 1

3——2—j+—of 1- 4 —==of

Thevalueof( 224 dof— + 22
+

(a)9/2
(b) 2/9
(c) 4/81
(d) 27/8

Q236. In a school, 60% of the number of students are boys and
the rest are girls. If 20% of the number of boys failed and 65% of
the number of girls passed the examination, then the
percentage of the total number of students who passed is:

(a) 68

(b) 72

(@74

(d)78

Q237. A, Band C can do a piece of work in 30 days, 45 days and
9o days, respectively. A starts the work and he is assisted by B
and C together on every third day. In how many days will the
work be completed?

(a) 23

(b) 24

(c)221/2

(d)30
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Q238. The average score of 42 students in a test is 6g. The ratio
of the number of boys to that of girlsis 10 : 11. The average score
of the boys is 20% more than that of the girls. The average score
of the boys is:

(a)73.5

(b) 75.2

(c) 82.8

(d) 75.6

Q239. A person invested a sum of Rs. 10,500 at x% per annum at
simple interest and a sum of Rs. 13,500 at (x +2)% p.a. at simple
interest. If the total interest earned on both the investments for
3 years is Rs. 7,650, then the rate of interest on the first
investment is:

(a) 8%

(b) 8.5%

(c) 9%

(d) 9.5%

Q240. A, B and C started a business with their capitals in the
ratio 4 : 2 : 9. At the end of every quarter, A halves his capital,
whereas B doubles his capital and C leaves his capital
unchanged. If at the end of a year, A’s profit was Rs.24,000, then
what is the total profit (in Rs.)?

(a) Rs.2,16,000

(b) Rs.2,30,400

(c) Rs.2,35,200

(d) Rs.2,25,600

Q24a. If ris the remainder when each of 6454, 7306 and 8797 is
divided by the greatest number d (d > 1). then (d —r) is equal to:
(a) 126

(b) 64

(c)137

(d) 149

Q242. The marked price of an article’is Rs. 250. After allowing
two successive discounts of 20% and x%on the marked price, it
is sold for Rs. 185.60. what is the value of x?

(a) 8.4%

(b) 7.2%

(c) 6.8%

(d) 7.6%

Q243. The speed of train A is 16 km/h less than the speed of train
B. To cover a distance of 384 km, B takes 4 hours less time than
A. What is the speed (in km/h) of train B?

(a) 5o

(b) 45

(c)32

(d) 48

Q244. A person can save 25% of his income. If his income
increases by 20% and still he saves the same amount as before,
the percentage increase in his expenditure is

(a) 26%

(b) 24

(c) 25%

(d) 25

Q245.

(01304002102 L (24)*43x(1152)+9
(0.39)24+81(0.07)°  (2.4)54+6(2.4)%+3x(17.28)

The value of

(@)o.4ando.5
(b)o.7and 0.8
(c)o.5and 0.6
(d)o.6ando.7

Q246. Let x be the least number which when divided by 8, g, 12,
14 and 36 leaves a remainder of 4 in each case, but x is divisible
by 11. The sum of the digits of x is

(@)s

(b) 6

(@9

(d) 4

Q247. An observer who is 1.62 m tall is 45 m away from a pole.
The angle of elevation of the top of the pole from his eyes is 30°.
The height (in m) of the pole is closest to:

(a) 26.2

(b) 26.8

(c) 27.6

(d) 25.8

Q248. A vessel contains a solution of two liquids A and B in the
ratio 5: 3. When 10 litres of the solution is taken out and replaced
by the same quantity of B, the ratio of A and B in the vessel
becomes 10: 11. The quantity (in litres) of the solution, in the
vessel was

(a) 42

(b) 48

(c) 52

(d) 44

Q249. In an office, 70% of the total number of employees are
females. 80% of the total number of employees, including 85
males, got promotion. If there are 105 female employees, then
what percentage of female employees got promotion?

(a) 30%

(b) 33 V5%

(c) 40%

(d) 35%

Q250. pipes A and B can fill a tank in 18 minutes and 22 %2
minutes, respectively while pipe C can empty the full tank in 12
minutes. A and B are opened together for 6 minutes and then
closed. Now C is opened. C alone will empty the tank in

(a) 5 minutes
(b) 8 25 minutes
(c) 7 ¥5 minutes
(d) 6 minutes
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Q251. If a discount of 10% is allowed on the marked price of an
article, a shopkeeper gets a profit of 25%. If he offers a discount
of 25% on the marked price of the same article, then his
percentage profit/loss will be:

(a) 4% loss

(b) 4% profit

() z%% profit

(d) z%% loss

Q252.
4=3+2x(4=2)-3+4x3+T+4 ;

4434 (2—4)x4+3+40f 3

The value of

(a) -32
(b) 32
-3z

() 7
32

(d) 7

Q253. If 66%:% of 75% of one-eighth of a certain number is 179,
then 33%4% of three-fourth of that number is:

(a) 537

(b) 726

(c)787.6

(d)859.2

Q254. A is twice as efficient as B and C s thrice as efficient as B.
working together, they can finish a certain work in 5 days. A and
C worked together for 5 days. B alone would complete the
remaining work in

(a) 8 days

(b) 5 days

(c) 6 days

(d) 4 days

Q255. If the 5-digit number 538xy is divisible by 3, 7and 11, then
the value of (x2 + y2) is:

(a) 10

(b)27

(c) 25

(d)13

Q256.

The value of Jﬁ — 17 — 24/72 is closest to:

(a) 2.4
(b) 2.7
(€)2a
(d)2.7

Q257.If 66 ;% of 75% of one-eighth of a certain numberis 179,

1
then 33 Eﬂf'&ofthree-four‘ch of that number is:
(a) 537
(b) 726
(c)787.6
(d) 859.2

Q258. A sum of Rs.5,000 amounts to Rs.7,200 in 8 years at a
certain rate per cent p.a, interest compounded yearly. What will
be the compound interest on a sum of Rs.6,550 in 4 years at the
same rate of interest?

(a) Rs.1,415

(b) Rs.1,310

(c) Rs.1,290

(d) Rs.1,285

Q259. Pipes A and B together can fill a tank in 16 hours, whereas
pipe C alone can empty the full tank in 24 hours. A and B were
opened together for 10 hours and then closed. Pipe C was then
opened. The tank will now be emptied by Cin:

(a) 18 hours

(b) 10 hours

(c) 15 hours

(d) 12 hours

Q260.
If 2sinB + 15co0s%A = 7, 0° < B < 90°, then what is the value

(@) 1/4
(b)1/2
(c) 5/8
(d) 3/4

Q261. A can finish one-third of a work in 5 days, B can finish 2/5
th of the same work in 10 days and C can finish 75% of the same
work in 15 days. They work together for 6 days. The remaining
work will be finished by B alone in:

(a) 5 days

(b) 3 days

(c) 2 days

(d) 1v42 days

Q262. A is 40% more than B and B is 60% less than C. If Cis 60%
more than D, then which of the following is true?

(a) D is 10.4% more than A.

(b) Ais 54% less than C.

(c) Bis 36% less than D.

(d) Ciis 60% more than B.
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Q263. Let x be the least number divisible by 13, such that when
x is divided by 4, 5, 6, 7, 8 and 12, the remainder in each case is
2. The sum of the digits of x is:

()11

(b) 8

(99

(d) 10

Q264. In AABC, £C=90%ndDisa point on CB such that AD
is the bisector of £ZA. If AC = 5 cm and BC = 12cm, then what is
the length of AD?
10
(a)?cm
(b)#cm
5V13
(C)Tcm
(d)23—0 cm

Q265. The marked price of an article is Rs.800. A retailer buys it
for Rs.5s40 after getting two successive discounts. The first
discount is 25%. What is the second discount?

(a) 8%

(b) 12%

(c) 15%

(d) 10%

Q266. A started a business with a capital of Rs.1,12,000. After 2
months, B joined the business with a capital of Rs.80,000, and
after another 2 months, C joined the business with a capital of
Rs.72,000. After 10 months from the start of the business, B
withdrew Rs.8,000 and C also withdrew Rs.8,000. If B received
Rs.9,800 as his share in the profit at the end of a year, then the
total profit was:

(a) Rs.32,400

(b) Rs.35,800

(c) Rs.30,800

(d) Rs.33,600

Q267. The profit on selling an article for Rs.1,100 is equal to
three times the amount of loss on selling it for Rs.700. To gain
12.5%, the article must be sold for:

(a) Rs.9o00

(b) Rs.787.50

(c) Rs.g56

(d) Rs.877.50

Q268. Seven years ago, the ages (in years) of A and B were in
the ratio 4 : 5 and 7 years hence, their ages will be in the ratio 5:
6. What will be the ratio of their ages 5 years from now?

(3)34: 41

(b)33: 40

()31:33

(d)33:34

Q269. A person rows a distance of 3% km upstream in 1% hours

and a distance of 13 km downstream in 2 hours. How much time
(in hours) will the person take to row a distance of go km in still
water?

(a) 15

(b) 20

(c)18

(d) 24

Q270. A certain sum (in Rs.) is invested at simple interest at x%
p.a. for 5 years. Had it been invested at (x + 5)% p.a., the simple
interest would have been Rs.g,200 more than the earlier one.
What is the sum?

(a) Rs.36,800

(b) Rs.40,000

(c) Rs.36,400

(d) Rs.35,800

S1. Ans.(a)
Sol.
20000

Price of 1 text book = = Rs. 40

Price of free 50 text books = 50 = 40 = Rs. 2000
.. _ 2000 _
So, profit = ~o005 100 = 10%

S2. Ans.(a)

Sol.
Total expenditure = 20 + 60 + 10 = 90%
so, remaining salary = [100 - 90]% = 1004
= 108 = 30
< 100%; =300

S3. Ans.(d)
Sol.

. gphers
ratio of surface area = ——
hemisphere

_ At

4
3

3mrs
S4. Ans.(a)

Sol.

Total students = 1400
Number of students who wear specs = 350

= Girls wear specs = 350 — 350 % % = 250
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S5. Ans.(c) S12. Ans.(c)
Sol. Sol.
Since A can complete 1,/3 work in 5 days Let the number of students be x. Then,
~ A can complete whole work in 5x3 = 15 days Number of students above B years of age or of 8 years age
o ) 5 = (100 — 20)% of x = 80% of x.
Similarly, B can complete the whole work in 10 x 27 ~80%ofx=48
- Total number of days taken by them working togef] =% =60
S13. Ans.(c)
S6. Ans.(c) Sol.
Sol. Principal = Rs. [%] = Rs. 15000.
Marked Price = 1200
Discount = 5% of 1200 =60 S14. Ans.(b)
So, selling price = 1200 - 60 = Rs. 1140 Sol.
CP of chair =22 x 720 = Rs. 960
S7. Ans.(c) S s
Sol. To gain 2594, SP = Too » 960 = Rs. 1200
48—
Required speed = —** = 60 km/hr S15. Ans.(c)
0 Sol.
: — (180 4 1E0h, . =2
S8. Ans.(d) Total time taken = ( = T B0 ) hrs. 2 hrs.
Sol. ~ Required averge speed = 3;0 = 71.11 kmph
3 =
Machine's value after 3 years = 32000 x [1 - i) i
Hoo 516. Ans.(c)
=Rs 27436 ’ ’
Sol.
S9. Ans.(b) Let the boys and girls be 3x and 2x respectively.
Sol. Then,
Arei—l of base = mr* = 1.54 3:;:'5 = E = 12x 4+ 24 = 14x%
= - = 3
re =049 = 2x=24=x=12
=r=0.7 km

~ Numberofboys=3x +6=3x 12 + 6 = 42.

Height of mountain = /(2.5)* — (0.7)% = 2.4 km

Sa17. Ans.(c)
S10. Ans.(d) Sol. If two articles are sold at the same S.P. and there is a gain of
Sol. x% on one table and a loss of x% on the other, then there is
N N N always a loss in this transaction and
1 2 3 % 2020
[l = —= =
1 - 2 - loss% 100 100 4%.
3 S18. Ans.(c)
3 6 2 Sol.
o Let the numbers be 2x and 3x.
~ larger number = (::+:+2' ¥ 6 =190 Then, their L.C.M. = 6.
' So,6x=48orx=8.
S11. Ans.(b) + The numbers are 16 and 24.
Sol. Let the share of a man, a women and a boy be 5x, 4x and Hence, required sum = (16 + 24) = 40.
x respectively.
3ATQ,p Y S19. Ans.(c)
4x5x+5xdx+8x3x=960 Sol. .
20x + 20x + 24x = 960 Relative Speed = (194.4 = (5/18) + 6) =60 m/s
x=15 Time = 15 sec
- share of a woman = 4x = Rs 60 ~ length =60 = 15 = 900 metre.
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S20. Ans.(b)
Sol.
Since all the three distances are same,

hence the average speed

3 %10 %20 &0 3 urw
 (20041200+600) (uv+vw+wu)
== = 18 km/hr

S21. Ans.(d)

Sol.

Let the quantities of acid and water
were x litre and 3x liters respectively
(xk+5):3x=1:2
3x*1=(x+5)x2=2x+10=>x=10
The quantity of new mixture =x+ 3x+5
=4x +5 =40+ 5 = 45 litres

S22. Ans.(a)

Sol. The required number will be 234k+26. Now when this
number is divided by 13, the remainder will be same as
remainder when 26 is divided by 13, i.e zero.

S23. Ans.(a)

Sol.

Efficiency of P: Q=3:1

Required number of days of P: Q=1:3

i.e. If P requires x days then Q requires 3x days.
but3x-x=60

= x=30

Thus so,

Q can finish the work in 90 days.

S24. Ans.(a)

Sol.

Given that 110% gain = 68.20
2

So 100%p = 6520

=100 =62Rs
0

By the mixture & Allegation rule.
L] 5

I

N/

B2

7N,

i F

SD, ratiois=3:2

so, 7% sell out the amount 7 : 3 =10
10 ratio = 100 kg,
1 ratio = 10 kg.
so, 70 =+ 7 x 10=70 kg

S26. Ans.(c)
Sol.

Let the original price per kg. be =+ 100 Rs
Reduced price =90 Rs

~ Amount to be bought = % =50kg
S27. Ans.(b)
Sol.
Batsman scored by running =110 -[3 = 4 + 8 = 6]
=50
- Req. Percentage = E><1IZIIZI = -153‘}.5
110 11
S28. Ans.(d)
Sol.
successive percentage of 20% = [ED+2IZI+ 2l:l:<§.l]}= 4404
successive of 2004 & 4494 = |:-'L'L+ 20+ QXSD] =72.8%

because volume proportional to radius?

S29. Ans.(d)
Sol. Itis clear that b will be zero. The last three digit 4ao will be
divisible by 8. If a+b=0 or 8, so, a+b=0or 8

S30. Ans.(a)

Sol. We known that,

Dividend=Divisor xquotient + remainder.

(i) »75%3=225

(ii) >225x1+75=300

(iii) —»300x14225=525

(iv) —>525x3+300=1875, the req. no. will be the dividend of first
and second step. —525+1875=2400

S31. Ans.(a)

Sol.

10 M=12=10 W=6

2M=1W

So, (10M+10W) days=10 Wx6

S25. Ans.(d) 15W = days=10 W=x6
SOI. Dayszq.
By mixture & Allegation -
Suppose whole sugar sell out on 7% = 107 S32. Ans.(b)
Suppose whole sugar sell outon 17% = 117 Sol.
tEP] gain = 10% =110 2 = 2 difference — 2 ratio=60 days
——>107 117 ¢—— B 1
1 Ratio=30 days
i1d
So, time= 3=x 3= Ezlday
L 3 Bxtx 120 z
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S33. Ans.(b) S39. Ans.(c)
Sol. Sol.
Out of total profit Mohan got Rs. 6000 According to the question,
and Sohan got Rs. 3000 PT=5 cm.
. 20000x6 _ 6000 PA = 4 cm
T ex1z | 3000 .
= x = Rs.5000 PB = (4+x) em.
As we know that,
S34. Ans.(b) PT:=PA = PB
Sol. 25=4 (4 + x)
12 O'clock watch needs 11 times interval takes 22 sec. 25=16+4x
The watch is taking 2 sec in each interval. x= %cm.
6 o'clock watch needs 5 equal intervals=5x2=10 sec
S40. Ans.(a)
S35. Ans.(c);
Sol.
Sol.
3 s D 1 C
(utv)x3 ;= 15and (u—v)x =5
U=3 km/h . .
V=1km/h ' 2
area of ACOD _ CD?
S$36. Ans.(c) area of AOB  AB?
Sol. area of ACOD _ (1\* 1
8X15+xX6=(8+x)x10.8 84 _(E] 4
120 4 6x = 10.8x + 86.4 Area of ACOD = 21 em?
4.8x = 33.6 pw
=7 41. Ans.(b)
Sol.
S37. Ans.(d) Average run of 10 innings = 50 runs
Sol. Increased runin 11 inning = 11 = 2 = 22 runs
According to question, Total runs = 50 + 22 = 72 runs
MP 10 T
SP 9 10% discount S42. Ans.(c);
CP 5 ) 20% profit sol.
SP 6 According to question,
To make SP same -
CP=30=950+30=85
EE S sy =30 95x+85 ’
45 54 60 =30[95+83]
_ =30 =18 =Rs. 540
a0
] SP=60x=8.90
450 (Actual CP) 600 (Marked Price) =Rs. 534
- MP =Rs. 600 Loss =CP =5P
$38. Ans.(c); =540-534=Rs.6
Sol. S43. Ans.(b)
ATQ Sol
If kamal is 1009 efficient, then Bimal 150% efficient (50% more), )
La_{- _ 150 _ 5] Let no. of persons be ‘N’
e : unirs unics N X 55 (N + 6:' 44
Kamal: Bimal = ef ficiency - 2——: 3 —— =
day day l 1
Total Work =15 % 2=30 SN = 4N + 24
- ie s 3o
Bimal candoitin= 3= 10 days N =24
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S44. Ans.(b) S5o. Ans.(d)
Sol. Sol.
Let the speed of the cars be S1 and 52 J:TQ’
3
=81-8:=2=10 oo () 3TRI_64 R _4
- 4
And S1+S2= 22 = 70...(ii) snR: 27 R 3
From equation (i) and (i) Ratio of their surface area = _AmRL 16:9
W2
51=40 km/hr 47 (Ra)
S2=30 km/hr S51. Ans.(a)
= Required speeds are 40 kim/hr and 30 ki /hr Sol.
Let the two numbers be xand y
S45. Ans.(d)
Sol wx+y=70
ol. 2.2y =
According to question, And (x - y°) = 1400
Old New (x+y) (x-y) = 1400
: % increase x-y=20
Price 5 —m 6
Consumption 6 O 5 S52. Ans.(c)
: . — Sol.
Expenditure E'U ﬂ31|_'|' Let the amount lent at 4% be Rs. x.
% decrease = - X 100 = 'lﬁ?% ~ Amount lent at 5% = Rs. (60000 - x)
According to the question.
(60000—x)x5x1 | xxd4xl _
S46. Ans.(d) oo + oo 2560
Sol. = 300000 — 5x + 4x = 256000
Fail in Mathematics = 1994 = x = 300000 — 256000 = Rs.44000.
Fail in English = 10%
= Total Fail Students % = (19 + 10) — 7 = 22 553. Ans.(c)
~ Students passed in Both the Subjects = 100 — 22 = 7804 Sol. .
Required per cent = #® 100 = 25%.
S47. Ans.(c) 100-20
Sol. S54. Ans.(b)
Required selling price = 600 X 9% 22 = Rs 693 L &
ioo 100 A—— 20 days
S48. Ans.(d)
B — 30 days
Sol. ’

Speed to cover 10 km in 12 min
= ? % 60 = 50 km/hr

. . 10
Required time = — hr
505

C ——60 days
Workdoneby(A+B+Clinldayv=(3+ 2+ 1) =6 units

C, alone finish the remaining work in = 51—4 = 54 days

= E * 60 min = ?miﬂ Sss. Ans.(b)
=13 min 20 sec sol.
Let the number of apples be x

S49. Ans.(c) A4x=2x2-30=>(x-5)(2x+6)=0=x=5,-3
Sol. ~X=5

Required number = % X LCM of (12,14,18,22) S56. Ans.(c)

1 Sol.
-3 X 2772 Temperature of last day
= 1386 7= (27.4-(3=26.5+3x29)=25.3°C
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S57. Ans.(c)

Sol.
Total duty paid = 750 = 4% + 3600 = 79 + 10500 = 994

=30+ 252+945="1227

S58. Ans.(b)
Sol.

The number of passengers from Mumbai
20 %100 %48
" (100-(48+20+24))%100
= (48 x 20)/ 8
=120

S59. Ans.(b)
Sol.
Sthreading = (5 % 12) + (5 % 15) - (9 x 10} = 45

S60. Ans.(d)

Sol.

Let Raj paid Rs x for the bicycle.

Pawan paid = 1.25x, Dinkar paid = 1.25x = 1.2 = 156
= 150x=156=>x="Rs 104

S61. Ans.(b)
Sol.

Letthe CP=100,5P=100x 1.1 =110

half of SP = Rs 55, = Loss = 100 - 55 = Rs.45
_35x100

¥ loss = oo 4504

S62. Ans.(b)

Sol.

In the shown figure AB is a wall and BC is its shadow

where angle of elevation of the sun, ACB = 607

B

A

£ fes—
Shadow where angle of elevation of the sun, ACE = 600
tan 60 = AB/BC > =% =22
1 BC
AB:BC=+3:1
Height : Shadow = V3 :1

S63. Ans.(d)

Sol.

Let the ages of Swetha and Santoshi be 9x and 4x
=4x+ 10=9x=x=2

~Swetha's age =9 x 2 = 18 years

S64. Ans.(a)

Sol. Let the initial investments of A, B and C be x, 2x, 3x
respectively.

A’s investment for 6 months = 6x and remaining 6 months = 2x x
6 =12x

B’s investment for 6 months = 2x x 6 = 12x and remaining 6
months =x x 6

C's investment for '6 months = 3x x 6 = 18x and remaining 6
months = 4.5x x gx

Required ratio of profits = ratio of investments = (6x + 12x) : (12x
+ 6x) : (18x + 9x)

=2:2:3

S65. Ans.(c)

Sol.

(U—V) x 675 =750, 9 (U-V) = 10 (i)
&(U+V)x‘z—5x60=?50,3(u+m=5 (ii)

From (i} & (ii)
U=2%x2 =5km/h.
18 5

S66. Ans.(c)
Sol.

Sum of 40 observation =40 x 28 = 1120

& Difference =32
So, 1120+ 32=1152

Correct Avg. % = 28.8

S67. Ans.(d)
Sol.

B G

31 : 23
124 107

75 girl - add., but boys remain same.
So, 31=x4=124

124:92

15 Ratio =75

124 :107

1 Ratio=5

Diff. = 17

So,Req.No.=17 = 5=85

S68. Ans.(b)
Sol.

(6v2 — 3v2)/ 2v/3

3z _ (3
23 2

S69. Ans.(b)

Sol.

X+y=7(x—y)]or6x-8y=0 (i)
X+5+y+5=9(x-vy)

8x—10y = 10 (ii)

After solving (i) & [ii)

x = 20 year

v =15 year
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S70. Ans.(b) S76. Ans.(b)
Sol. Sol.
Ram : Shyam : Sohan=— X —: —: 1 A+B____30days
_ 17 17 17 1/5 work has been done by (A & B)
=49:119:289 289 Now, 4/5 work is done by B in 36 days
Sohan is income v ® 490 = 2890 - 1 work is done by B in 36;5 = 45 days
S71. Ans.(c) So,
Sol. 90
1
- 4 3 2
A:B=1=-
- 3
= A+B B
3 10
B:C=EandC:D=§=? 30 45
A:B:C:D=8:6:10:9 8o, efficiency of A=1
So, A alone can do work in = 9—10 = 90 days
S72. Ans.(c
7 (© S77. Ans.(a)
Sol.
Sol.
259% of the cost Price = 100 C.P SPp
. 100x100
Cost price = % =400 100\__/310
0,
S$73. Ans.(d) 100 walis
Sol. +H0%
Let the usual time be 't' hrs and usual speed be 'x" km/h 140 310
ATQ, B
= Profit % on S.P = 2% » 100
126=xt  ...(i) 7o 310
5 =, X 100
And 126 =(x-6)=(t +E] "2 55040
126 = (x-6) x(= 4 =) (i) 578. Ans.(b).
) . y Sol.
Solving eqn (i) and eqn (ii), we get Let the speed of Boat = B km/hr
x=126 km/h And the speed of stream = S km/hr
80 20
PRI
S74. Ans.(b) W a
Sol. mes (s
_10%  —100% —10% . By solving. B=24,5=16
100 90 81% 72.9% . Speed of the stream = 16 km /hr.
If 72.9% = 36450
=500 g
Complete E-Kit
Then 100% = 100 = 500 = Rs 50000
S75. Ans.(b)
Sol. F
Sum of th f the family = 6 x 25 = 150 B ean N Tremee
um of the age of the aml-y . year.s y AECAT r‘!h_n \
The sum of age of the family at the time of the birth of the youngest member e IAF AECAT
=150-90 oLl
=60 — =]
Average (age) = % =12 years
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S79. Ans.(c) S84. Ans.(c)
Sol. Sol.
5 consecutive odd numbers are- G A = 40%
23, 25,27, 29, 31 roup A=
. Product of First and last number Group B = 6075 _ 450
=23x31
=713 Group C=15%
580. Ans.(a) 1594 = 12 students.
0. Ans.(a
Sol Then 100% = 80 students
Let the distance b/w two consecutive trees = 1m
st th L th
1 12 m i3 21m 16m B 585. Ans.(a)
L A IS el 1 Sol.
& 21 — 18 sec.
18 we have
(124214 16) = 49m - = x 49
= 42 sec. 1400 = ZRXE g - 8339
100
S81. Ans.(b)
Sol. S86. Ans.(a)
2 :3 = 5 x 72 sol.
144 216 , 100000%8
3 . E = 8§ x 45 Amount paid to bank= 100000 + #
135 225 =
4 . g = 9 x 40 = 100000 4+ 8000t
160 200 80% of the amount of rent= 1875 X 12t X %
439 : 641 =18000¢ _
From the question,
S82. Ans.(b) 100000 + 8000t =18000t
Sol. t=10 years
Ram = 5x Rohit
S87. Ans.(a)
Rohit x x = Ram x x - 60
Sol.
Or Rohit x x = 5x Rohit (x - 60) Given that 1109 gain = 68.20
Orx=5x-300 68.20
So 100% = ——«100=62Rs
Or 4x =300 0
Orx= 7% Ey t]:j:_lmlxture & Allegation rule.
N
. Rohit completes work in 75 days 52
.1'/ \\2
. Ram completes work in 15 days Sq ratiois=3:2
_75x15 _5 .
So, together = —— : x 15 $88. Ans.(b)
=§><5=12%Days Sol.
¥+y=7(x—v)oré6x-8y=0 )]
S83. Ans.(b) X+5+y+5=9(x-vy)
Sol. 8x—10y = 10 (ii)
_ 24 1z After solving (i) & (ii)
Upstream speed, U = — =3 = 4km/h % = 20 year
v =15 year
Downstream speed, D = P_5g km/h
: $89. Ans.(b)
-~ speed of boat in still water, x = DJ:—U =2-45 km/h 9- Ans.
by S 1 - Sol. Now it will bounce 20% of 10 = 2 meter less
Speed of water current,y=— === 0.5 km/h.
2 2 =10-2=8m
29 | www.teachersadda.com | www.sscadda.com | www.careerpower.in | Adda247 App


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

DEFENCE | £
addazyT Numerical Ability for IAF AFCAT 1 2022 Download PDF addazyT
S90. Ans.(c) S95. Ans.(d)
Sol. Sol.
Let AB be the lighthouse and C and Income Expenditure
D be the positions of the ships. I 2 3
I 3 9

E
)
[
—
ao® 45°
C A D
Then, AB = 100 m, £ACB = 30° and £ADB = 45°,
AB =tan30°=
AC 1 = AC=ABxV3=100V3m.
V3

AB

~ —tan45°=1 = AD=AB=100m.

AD

" CD=(AC+AD) = (100v3 + 100) m
=100(v3 +1)
=(100x2.73) m

=273 m.

S91. Ans.(b)

Sol. Sum of weight of g items = 15 x g = 135kg
Sum of weight of 10 items = 16 x 10 = 160kg
10% item = 160 — 135 = 25kg

2nd year income = 45000

- 1st year income = 30,000
1=t year exp. = 25,000

2nd year exp. = 45000
Total saving in two years together = 5000 + 0 = Rs. 5000

S96. Ans.(b)
Sol.
20 % 25
Net discount = 20 + 25 -
100

=45 -5

= 4004
= 0.6x=4200
x=7000
Sg97. Ans.(a)

Sol. Total value of 1 rupee coins = Rs x
=~ Total no. of 1 rupee coins = x

Total value of 5o paise coins = Rs x
Total number of 5o paise coins = 2x
Total value of 25 paise coins = Rs x
Total number of 25 paise coins = 4x
ATQ— X + 2X + 4X =175 = X = 2§

S92. Ans.(d) Total value of coins =3x = 25 x3 =75
Sol. Let the present age of son & Mother = 2x/& 7x S$g98. Ans.(c)
Sum of ages of son & mother = 2x + 7X =27 x 2 Sol.
= 9gx =
9X=54 Required difference in rates = 13.50%190 _ 0.3%

x=6 1500%3
-~ Present age of Mother = 7x = 42 S99. Ans.(b)
Age of mother 7 years later = 42 + 7 = 49 yrs. Sol
S93. Ans.(b) o
Sol.

Total marks obtained by Ruchita =43 + 45 + 67 + 89 + 65

=309

Sum of maximum marks =5 x 120 = 600 A

. required percentage = % % 100 = 51.5%
S94. Ans.(d)
Sol.

Let the income of Ram = 1009% 45°

After donating to charity, remaining = 969 B . C

L 231 al
iti iri = — = Q,
& after deposition, remaining = 96 - 9.6 = 86.4%% In AACB,
We have 86.4% = 8640 ac
8540 tan45% = —
~ Income of Ram = ea X 100 = Rs. 10000 BC
) =AC=20m
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Now,

(AB) 2=(BC) *+ (AC) 2

=(25)% + (25)2

AB =252

.. Height of the pole

= 25 + 25v2 = 25(v2 + 1)Meter

S100. Ans.(c)
Sol.

(1+ T )_Eﬁ
100/ 25

NowF’(l +-=) = 650

26
P x — =650
25
650 x 25
P=——"—=Rs625
26

S101. Ans.(c)
Sol.

tad
Y

T — 4

T

We have, 1 unit = % hrs.
#4unit=2"x4=22hrs.
Required distance = 45 x 22 =990 km

S102. Ans.(d)
Sol.
Fare for first 1.2 km = Rs 6.50

Remaining distance = 4.8 - 1.2 = 3.6 km
3600 _ 60

S104. Ans.(a)

Sol.

A > 10 2
20

B > 20) 1

Work donein5hrs=5=3=15
Remaining work will be done by B

5
=7= 5 hours

S105. Ans.(c)

Sol.

A >12 5

»15 47> 60

C > 20) 3
Isthrs — 5+4 = 9
2ndhrs — 5+3 = &
In2Zhrs — = 17

x3 x3
6hrs 51

Now,6+§= 7 hrs.

S106. Ans.(b)

Sol.
Let student answer x questions correct & y questions wrong.
x+y = 200
& dx-vy = 200
Sx = 400
X = &0

S107. Ans.(d)

Sol.
Let the present age of person =x
=2(x+3)3-3(x—3)=x

So, extra fare for rest of the travel = —— X — = Rs 21.6 3%x+9-3x+0=x
Total fare = 6.50 + 21.60 = Rs 28.10 = x = 18 years
S103. Ans.(a) S108. Ans.(c)
Sol. Sol.
We have, From tl.le given
Venn diagram
30 + 44 =10 Cellular phone Computer
(x—y) (x+y)
&
40 + 55 — 13
(x—y) (x+y) ,
After solving we get, Required percentage
x =8 km/h =5+ 25+ 50
= B0%
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S109. Ans.(a)

Sol.
A > 18 4

72 (TW)
B > 24 3

8 days' workof A& B—8=(4+3)=56
Remaining work=72- 56 = 16

Remaining work finished by B = % =5 idays

S110. Ans.(c)

Sol.
. 30K —
Z
— H0km —=
§: AM 9: AM
60 km/h—* «— 75 km/h

In 1 hour, first train travels = 60 km

Relative speed = 135 km/h

Time required to coverage remaining (330 - 60) =270 ki
_ 270

==—=2hrs
135

~ they meet at 9am + 2Zhrs =11 am

S111. Ans.(c)

Sol.

Average of 7 numbers =8

Sum of 7 numbers =7 x 8=56
Average of 8 numbers =9

Sum of 8 numbers =9 = 8=72

~ Required number=72-56 =16

S112. Ans.(d)
Sol.
10 years ago, sum of age of the family = 25 = 4 = 100 years
- present sum of age of the family of 4 members = 100 + 40 = 140
& present sum of age of the family of 6 members = 25 x 6 = 150 years
.~ sum of age of two children = 150 - 140
=10 years
x+y = 10 (Say)
x—-y = 2 (Given)

2x = 12

x=6&y=4

-~ The present age of the youngest child = 4 year

S113. Ans.(c)
Sol.
Let present age of ravibe Y
And present age of ravi's father be X
AT.Q-X=4Y
X-5=7(¥-5)
7Y-4Y=35-5
3¥=30
¥=10
- present age of father = 4 x 10
= 40 years

S114. Ans.(a)
Sol.
We have, 9604 = Rs 240

= 110% = —>X 110 =2 = Rs 275

Si115. Ans.(c)
Sol.

We have, simple interest of 3 years = 1620 - 1350 = 270

~ Sl of 1 year = Rs 90
= Sl of 5 year = Rs 450
Sum = 1350 - 450 = Rs 900

S116. Ans.(b)

Sol.

Simple interest for 2 years = Rs 800
SI for 1 year = 400

For CI additional interest of Rs 32 is due to interest of first year

- Rate of interest = % ¥ 100 = 8%

S117. Ans.(c)

Sol.
A+B >15 2
30
B > 10 3
~A—=1

Tap will fill the tank in = ? = 30 hrs
. capacity of tank = 8 x 30 » 60 = 14400 liters

S118. Ans.(d)

Sol.

We have,

30 . 30 9
15+y 15—y 2
30x30 9
225 — 3% 2

= 225-vy* =200
=y=5km/h

COMBO OF

AFCAT BOOKS SET
(ENGLISH MEDIUM )

H= A
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S119. Ans.(c) S124. Ans.(b)
Sol. Sol.
We have Profitratioof A& B

d .4 2t M A:B =100000 x 3 : 200000 x 2
x+y x—-y 4 =3:4
gl —g 4 7 We have total profit = 7 unit = Rs 84000

¥ ; ¥ ; z B . Share of B in the profit exceeded the share
From (i —>—+5—?=>E=; of Aby (4 afﬂgﬂ—lunit

2d ~ 1lunit= Rs 12000

Required time = =2 = 3hrs 30 min
xtw 2

S120. Ans.(b)
Sol.

Percent increase of population
_2,62,500 — 1,75,000

1,75,000
87500
=——>x 100
175000
= 50%
Average percent increase of population per year
50
= — = 5'0’.{3
10
S121. Ans.(a)
Sol.
12 10
=84
N 75 / Thrs
- =
Time ratio= 5 : 9 =14F *5

He travel at the rate of 12 kmm/h =5 x % = ghrs
Required distance = 12 X % = 30 km

S122. Ans.(d)
Sol.

n
=)

1
—52
5

RN
e

Required ratio 1

o/ N

S123. Ans.(a)
Sol.
Savings: Expenditure = 2: 3
Let,
Savings = 200 — 212
+6%

~ Income = 500 — 575
+15%

Expenditure increased by -+ 575 — 212 = 363-300=63

Percentage increase in expenditure = % ® 100 = 21%

7

S125. Ans.(c)

Sol. _
WehaveZS%=$
ATQ—

A B=25
B:C=31:4
A:B:C=15-12-16

S126. Ans.(b)

Sol.

Suppose initially price per kg of rice is 100
Then their expenditure = 4000
Now, their expenditure is only increased by’ 10% i.e., 4400

Increased p

So, new consumption = 1— =352kg

rice of rice = 125
420

S127. Ans.(b)

Sol.

Expenditure = pricex consumption

Now,

Now, Tax — 5 : 6
Cons. —» 5 : 4

Exp. — 25 : 24

Decrease in consumption = 2—15 ¥ 100 = 49

S128. Ans.(d)

Sol.

Minimum marks required for unreserved

candidate =
We have 54

300 + 24 = 324
U =324

& Minimum passing marks required for

324

reserved category = 400 = — 7 X 40 = 240

S129. Ans.(b)

Sol.

C
We have, —
sp

Sol.

We have, 11494 = 2850

-~ 108% —@ X 108 = Rs.2700
S130. Ans.(b)

P__10
11

Profit percentage = ﬁ * 100 = 10%
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S131. Ans.(b)

Sol.

We have,

126 % 1+135x1+x=x2=153x=x4
= 2x =351

= x=175.50Rs.

S132. Ans.(d)
Sol.

As, profit = Investment = time
Now,

5X8 5

6><x_§
¥ =12 months

S133. Ans.(c)
Sol.
Simple interest for 5 years = Rs 600

~simple interest for 1 year = 120
Rate of interest = —— X 100 = 6%
2000

Now rate of interest=6 + 3 =904
New interest = % = 900

Amount = 2000 + 900 = Bs 2900

S134. Ans.(b)

Sol.
We have, 504 = ﬁ
Let principal = 400 — 20

20 1
Difference between SI & CI = 1 unit
We have, 1unit=Rs &
~principal = 400 unit = 40 = 6 = Rs 2400

S135. Ans.(a)

S137. Ans.(a)

Sol.

When the cars travel in the same direction
W —5=5, -5, =20 (i)

5,53

When the cars travel in opposite direction

100 _ .
s, = 12 8115, =100 -..(if)

Solving (i) & [ii) we get,
S1=60 km/h & S2 =40 km/h
~speed of the car running faster = 60 km/h

S138. Ans.(b)

Sol.
H—20—6

R ——s 30 —4 120
H+R+5 ——— § ——15

§ —— 5
Efficiency ratio
HR:5=6:4:5
We have, 15 unit =375
Shyam=5unit=%>(5= 25 X 5=Rs 125

S139. Ans.(a)

Sol.
& > 16 3
48
P+L » 24 2

L ——1
4

Leakage would empty the tank = TB = 48 hours

S140. Ans.(b)

Sol. Sol.
Let, length of train B = 2x We have
~length of train A =x G:=B"-28
2_p2_ ;
Required ratio = — : ? =3:2 =B -G"=28 (1)
T8 &G+2=B
S136. Ans.(a) LB-G=2 ..(ii)
Sol. From (i)
Let distance between A & B =D (B-G) (B+G)=28
Now, 2(B+G)=28
D oD 3 =>B+G=14
9+3 9-3
D D S141. Ans.(a)
—_ + —_ = SOI-
%)2+ 2% Traffic lights would again change together after
= = LCM of 25 & 30
12 =150 sec
3D =36 1.
D=12km = 2gmin
34 | www.teachersadda.com www.sscadda.com | www.careerpower.in | Adda247 App


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
https://play.google.com/store/apps/details?id=com.adda247.app&hl=en

CEE
addaay

&

Numerical Ability for IAF AFCAT 1 2022 Download PDF addazyT

S142. Ans.(b)

Sol.

Let the age of elder one =A
And age of younger one =B
We have,

A+B=7(A-B)

=B= i—A

&(A+B+10)=9(A-B)
A+B+10=9A-9B
10B + 10 = 8A

3
1DX1A+1D=8A.
=A=20&B =15

Present age of elder one = 20 yrs

S143. Ans.(c)
Sol.

Income Exp. Savings
15000 12000 3000
‘I, +20%% \L+20",”u \L
18000 14400 3600

New savings = Rs.3600

S144. Ans.(c)

S145. Ans.(d)
Sol.

Let the usual speed be %' km/h
ATQ,
126 126 3

x—6 X &0

126%- 126x + 126 X 6 = ”‘(:;'“
126 X 6 X 20 = x(x — 6)
x=126 km/h
S146. Ans.(b)
Sol.

— 1004 —10% —10%

100 a0 81% 72.9%
If 72.9% = 36450

®500
Then 100% = 100 = 500 = Rs 50000

S147. Ans.(b)
Sol.

Sol. Sum of the age of the family = 6 = 25 = 150 years
A The sum of age of the family at the time of the birth of the youngest member
=150-90
=60
C E _ &0 _
) Average (age) = - =12 years
2500 S148. Ans.(b)
Sol.
B 60730 D A+B 30 days
1/5 work has been done by [A & B)
oo BC Now, 4/5 work is done by B in 36 days
tan30” = BD ~ 1workis done by B in X2 45 days
1 2500 *
= So,
ﬁ BD 90
BD = 2500+/3m
Tan60° = —= 3 2
25003
_ AB
250043 A+B B
= AB= 7500 m 30 45
~-AC=AB-BC So, efficiency of A= 1
=7500-2500 So, A alone can do work in = 2 =-9gp days
=5000 m 1
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S149. Ans.(a) S154. Ans.(b)
Sol. Sol.
C.P S.p Ram = 5xRohit
100 310 Rohit x x = Ram x x - 60
\—»u/ Or Rohit x x = 5 X Rohit (x - 60)
alis Orx = 5x - 300
+40% Or 4x =300
Orx=75
140 310 -~ Rohit completes work in 75 days
310-140
» Profit % on S.P = ——— X 100 - Ram completes work in 15 days
170
=_3< lﬂﬂ =?5K15=E -
310 So, together o X 15
7 5504 5 1
=3 X 5= 125Da}rs
Si50. Ans.(b).
Sol. S155. Ans.(b)
Let the speed of Boat = B kim/hr Sol.
And the speed of stream = 5 km/hr 2412
60 20 , Upstream speed, U= T =5 4km/h
N E+S+B—5_ Downstreamspeed,]}=ﬂ=Ekmf'h
40 40 * piu o
Bts + 5 s =6 -~ speed of boat in still water, x=—= >= 4.5 km/h
~ By solving. B= 24,5=16 Speed of water current,y = % = % = 0.5 km/h.
~ Speed of the stream = 16 km /hr. i
S156. Ans.(c)
Sa51. Ans.(c) Sol.
Sol. Group A = 409%
5 consecutive odd numbers are- _ 60%75
23,25,27,29, 31 Group B= —j5q = #2%
- Product of First and last number Group C = 15%
=23=31 15% = 12 students.
=713 Then 100% = 80 students
Sag52. Ans.(a) S157. Ans.(a)
Sol. |
Let the distance b/w two consecutive trees = 1m Sol. |
- th th th wWe nave
12 m qli Z2lm = 16 m 2
- 21 - 18 sec. 1400 = =22 R = 833%
18
(12 + 21 + 16) = 49m — — X 49
21 S158. Ans.(a)
= 472 zec. Sol.
S153. Ans.(b) Amount paid to bank= 100000 + 100000 x8xE
Sol. 100
2 + 3 = §5 = 72 = 100000 + 8000t
144 216 80% of the amount of rent= 1875 x 12t x .s_u
3 5 = B x 45 100
135 225 = =15000t
4 5 = 9 x40 From the question,
160 200 100000 + 8000t =18000t
t=10
439 : 641 years
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Sa59. Ans.(a)
Sol.

Given that 110% gain = 68.20

2
S0 100% = Ex1m=62R5‘
110

Bny the mixture & Allegation rule.
N/
N

So, rat_io is=3:2

S160. Ans.(b)

Sol.

X+y=7(x—y)or6x-8y=0 (1)
X+5+y+5=9(x-¥)

8x—10y = 10 (i)

After solving (i) & (ii)

x = 20 year

v =15 year

S161. Ans.(b)
Sol. Now it will bounce 20% of 10 = 2 meter less = 10 — 2 = 8m

S$162. Ans.(c)

Sol. Let AB be the lighthouse and C and D be the positions of
the ships.

100 m

30° 45"
C A D

Then, AB = 100 m, <ACB = 30° and £ADE = 45°,

AB 1 = = 3 =
o tan30°= — hAC ABx+/3
AC +'3 100+/3 m.
AB
— =tan45°=1 = AD=AB=100m.
AD
“ CD=[(AC+AD) = [100\,"5 +100) m
=100(v/3 + 1)
=(100x2.73) M
=273 m

S163. Ans.(c)

Sol.
As total income = No. of seats = Price of a ticket
No.ofseatls — 4 : 5
Price — 10 : 11
40 : 55

Percentage increase in total income

_ 15 100 = 37.5%
T 20 I

S164. Ans.(a)
Sol.

Let, the length of first train is 2x

~length of 27 train = 3x

& 51& 5z be the speeds of respective trains
Now,

2x _ X

s - 10=5 =2

Ix 3
&—=18=5;, = -
S 6
ATQ—

Ix+3x _ 150

Required time = TE =, =13 ;—L s5ec
S165. Ans.(c)
Sol.
We have,
A:B = 2:1
B:C = 2:1
Efficiency ratio= A:B:C = 4:2:1

Total work = Efficiency » time
=(4+2)x4=24
24

C, alone can complete the work = T= 24 days

$166. Ans.(b)
Sol.
We have 10% = ﬁ
Let, the sum = (10)% = 100
Then, 100 — 10
10 1

We have 1 unit =42
~ 100 unit =42 = 100 = 4200

S167. Ans.(c)
Sol.
When,
a+b+c=0then, a®+b?+c®=3abc
here,
a=032,b=045 & c=-0.77

So,

1 (032)° +(045)° +(-0.77)° 1

27 3(0.32)(0.45)(—0.77) 27
1

27

S$168. Ans.(a)

Sol.
Ram's age = 8 yrs
Geeta'sage=8-2=6yrs
~kamal's age =6 x 5=30yrs

®x1
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S169. Ans.(b)
Sol.

The weight of newly admitted student
= 51+2 =51+25=76kg

Sa170. Ans.(b)

Sol.

Let a & b be prime numbers

~27a+27b = 216

27 [a+b) =216

~a+hb=8

Then possible pairs = (1, 7), (7, 1), (3. 5). (5, 3)
There are 2 common pairs among them

~ required answer = 2

S171. Ans.(c)
Sol.

Let 6% person spends Rs x
Then,
5x324x

6
=x=128
Total expense =5 = 32 + 128
=Rs 288

T =

S172. Ans.(b)

Sol.

We have

900 = 23 = 200 =280 = 750 ='W
s>w===2

No. of days = 13—3 ¥ 7=138

S173. Ans.(c)
Sol.
We have
4%x10X5 2xX20xXy

X 2x
= v = 10hours

S174. Ans.(c)

S176. Ans.(c)
Sol.

17000

MRP of motor car = —— % 100 = 20,000

Equivalent discount of 10%; & 5%

= —10-5 10%5—145%

B 100

20,000%85.5
100

New SP = = Rs 17100

S177. Ans.(d)
Sol.

Let the price of diamond = x

& weight is v which become 2z, 3z & 5z respectively.
As

x € y? or x = ky*®

where, v =2z + 3z + 52

L.e.,

x =k(10z)?

total price of broken pieces of diamond

= k{(2z)* + (32)* + (5z)*}=38kz"

ATQ,

k(10z)* — 38kz*= 31000

~ 62kz® = 31000

Or, kz = 500

So, price of unbroken diamond = 100kz?
=100 =x 500 = 50,000

S178. Ans.(d)
Sol.

We have D =68 km
x=13km/h&y=4km/h

. . D &8 1
Required time = — = =—
x+y  13+4 17

=4 hrs

Sol. $179. Ans.(c)

We have P = pr:;;w sol.

= R=10% Let the required number = x
Now, 2P = pK:GC;T Now,

T =20yrs 7(x+ 10) 5_88

5 T2

S175. Ans.(b) 7x L 70
Sol. —— —5=44

50x + 25x = 4500 5

x= ETE = Tx=175

So, total no. of coins = 60 + 60 = 120 X=25
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S180. Ans.(c) S185. Ans.(b)
Sol. Sol.

in AABC,
A

taned® = —
BC
V3= 800
BEC
BC = 800
V3
S181. Ans.(b)
Sol.
MyD; _ MzDg
w, W
I 5_ 2
remaining work=1 — -=
iEma Mgx1 !
= _ =
7 7
- M2 =@

S182. Ans.(b)
Sol.
Total marks of four subjects = 4x85 = 340

Total marks of all subjects = 340+60 = 400

~ New Average = % = 80

S5183. Ans.(a)
Sol.

Expenditure: Saving = 5x:4x
Total income = expenditure + saving = 9x

Change Expenditure = % ¥ 5x + 5x = Tx
Changed Income =% +9x 4+ 9x = %x

= New Saving = Changed Income—Changed Expenditure
=15
T
Changed in saving = % —4x = E

17
x—?‘x=:x

X
= =500
4
Newincome§ X 500 X 4 = 22500

S184. Ans.(c)

Sol.
Let the speed of carriage be x km /hr.
Relative speed = (x — 4)}km/hr.= (x — 4) % m/s.
A/Q, In 1 minutes difference b/w them was 100m.
~ Distance = Relative speed x time

let initial number of persons be %

A/Q, 17.75x + 12 x 14.25 = (x + 12) X 16

17.75x + 171 = 16x 4+ 192

x =12

S186. Ans.(d)
Sol.

Speed along the stream = 5x + x = 6x

+ Distance = 6x X

. . 3bx
Required time =
bx—x

S187. Ans.(c)

Sol.
100

100-25

cost price =
100420

6= 36x hr.

=2 =9nr.,
4

x 600 = Rs 800
1z0

SP=———x800=—x 800
1 100

00
= 9a0.

S188. Ans.(a)
Sol.

Let original cost price be Rs x.

cost price after repair = x + 200 of x = Ex

Profit== X 2 x=—x
457 10
= Profit= 5P — CP

3x 6
— = 30000 ——x
10 5

15

—x = 30000
10

x = 20000.

S189. Ans.(c)
Sol.

Population 2 years ago =

15680
= — = 12500
284"

25

S190. Ans.(b)

15680

(14358

Sol.
A/QB=—(B+G)
10B = 4B + 4G

B 2

G 3

S191. Ans.(d)
Sol.

S1=13500-9000 = Rs 4500

5 _ r*10
1DD=(x—4}E><1><ED. A/Q, 4500 =9000= o0
x=10km/hr r=5
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S192. Ans.(d)

Sol.

4x® —3y* 2

2x2 4+ by? 19

76x* — 57y° = 24x* + 60y°?

52x% = 117y*

4x2 = 9gy?

x 3

y 2

S193. Ans.(b)

Sol.

Let the number be x
3x  3x

AlQ YT L 150

Z[21-4 =150

L .
35

S194. Ans.(d)

Sol. Distance travelled by car & taxi be x km & y km respectively
x+y=80 - (1)

5X+1.5y = 50

y=10 km.

S195. Ans.(a)
Sol.
A's 1 day's work = 11_1::

A's 4 day's work = 22
10 5

Let B can complete the whole work in x days.
B's 1 day's work =

A I A

B's 9 day's work =
A/Q Z+2=1
Lx= 2x+45
X=15days

r —L L = i
1 day's work of A and B T + =

6
Total time taken by both = 6 days.

S196. Ans.(c)

Sol.

ratio of two numbers = 2x: 5x
Zx+d 1

Sxtd 2

4x+8=5x+4

x=4

~ numbers are 8§ and 20.

S197. Ans.(a)

Sol.

i -1 _t*t_ 1
Work done byboymlday—3 i
_6=1-3 _ 1
R

Time taken by boy alone=9 days

S198. Ans.(b)
Sol.
Let age of Rahul and Rohan be x & y yrs respectively.

A/Q x=Z(x+y)

3x=2y (i)
Also,

y-x=15 .(if)
from eq(ii) & (i)
y=45

S199. Ans.(b)
Sol.
Total S.P =Rs. 25 = 50 = Rs. 1250.

Marked price = % X 1250 = Rs. 1562.5
and cost price = % %X 1250 = Rs. 10416

when discount is not given :
~5.P.=M.P. =Rs. 1562.5

520.9
. = = D
= Req. profit% Toais > 100 = 50.09%
S200. Ans.(c)
Sol.
Let the distance to be travelled by d km.
d d
—-= =
d =222 — 120 k.

. 120
Now, time = T 12 hour (when he reaches at 11 am)

~Speed required to each at 10 am = % 10% kmjh.

S201. Ans.(b)
Sol.

HCF=3=x2%=g=x27
S$202. Ans.(d)
Sol.

Third proportional =
=25

15x15

S$203. Ans.(b)
Sol.

2
Difference = principa](%)

25 = 525(i)2

100

() = (%)

x=20

S204. Ans.(a)
Sol.

(B}I‘Hx(:;}:NX(S}Iq' _ 39

E(Laxf;x+ 14)-6x-12 — 39
13x=7

7
x=—

13
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S205. Ans.(c) S212. Ans.(a)
Sol. Sol.
Speed—S 3=2km/hr. Weknowa+b+c=0
Tlme— —6hr a®+ b+ c® = 3abc
= a=0.37,b=.41,c=-78
5206. Ans.(a) = 3F_°};:;“>E‘;ff}:f':; —
Sol. LCM of 273, 315, 336 = 27 T '
Hence, minimum capacity of container required is 27 lit. E)
S207. Ans.(a) S213. Ans.(d)
Sol. Sol.
CP of 7 books = 5P of 5 books LCM of 2,3, 4,5, 6 and 7 is 420.
cP _ 5
—=- AT.Q
Hence, Profit per cent = 2x100= 409 420x5+1
5 2101 is the least number of 4 digits
S208. Ans.(a) When divided by 2, 3, 4, 5,6 and 7
Sol. Leaves a remainder 1.
2 35
e Sum of digits.
LCMD["E 5 2=30 2+1+0+1=4.
2x10:3x6:5% 15
2. 2.5-20:18:75 5214. Ans.(c)
B'c A Sol.
S209. Ans.(c) A B
Sol. 7 :+ 5
Ratio of salaries = A:B:C=2:3:5 Ave.
A— 2%, B— 3x,C— 5x
15%2x _ 46x 5x: 6x
A+15% of A=2x + =
sxxlo _ 33 ATQ
B"’lﬂ% DfB 3x + 100 F Esx_l_zu'r: 52
C+20% of € = 5x + —— = 6x 12
E-S-x' _
L multiply by 20 2 =52
46x: 66x : 120x = 23x:33x:60x = 23 :33: 60 48
x=_—= 9.6
S210. Ans.(a) _
Sol. avgof B=9.6 % 6
Here, profit = loss (i) =57.6
= Here, profit = [SP),-(CF)
And, Loss = (CP)-(SP)- S215. Ans.(d)
Now putting these values in (i) Sol.
(SP)1-(CP)= (CP)-(SP)2
201t
CP= (sp}i;-(spjz — Rs 1&30;—1320 — Rs 1475
S211. Ans.(a) Cp SPF:_EP_EL' MP
Sol.
Total number's divisible by 5 less than 1000 are. Over all = 2020 _ — 404
Less the 1000 no divisible is 995 1
=28 - 199 404 = E: g’f
Total number's divisible by 7 less than 1000 are. o
_ 994 ATQ.
el 24 — 180
Total number's divisible by 35 less than 1000 are. 180
— 380 _ 28 25 = —=x 25
35
28 number’s repeated two times 30 25
ATQ= 4
199 + 142 - (28)2 =20 -187.50
=285 #
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S$216. Ans.(c) S220. Ans.(a)
Sol. Sol.
A : B 7504 =%
3x : 5x
A+B : C 300 100 = 400
(3x +5x) : 3.2x L L —a0%
ATQ. -
Q 32+ 60 = 432
B-C=2x
2% ATQ,
— % 100 _ 432-400
3.2% R % 100
=62.5% =8%
S217. Ans.(b) S221. Ans.(b)
Sol. Sol.
A—4-20 +14%
5 95 Income 300 — 342
Bo3-15 expenditure 200 +2°%ﬂ
Savi *
4 —20 e 100 13-20—%100
A = 25 ‘100 ‘ 4 %6 Increase in saving = 100 x 100
B — 20 5 =204
ATQ. S222. Ans.(a)
A+B=9 Sol.
9 x 10 =90 unit ATQ,
C's one day work = 10 unit 1000 x 2 = 800
C's effeciency = 10 unit 800 6580 120
B+ C=15— one day work w100 = "% 100
3_"5_54 800 800
1003 = 5> days x=15%
S218. Ans.(b) S$223. Ans.(a)
Sol. Sol.
Rate furSmonths=£X8=8% 54 _ |0
12 54 Tz
Time=1- years = two 8 monthlies
3 S = |15 s
ATQ, A= |73 %58
804 = — S,q:gxa."-l-
25
25 27 S4=10.8 km/h.
ﬁ i S224. Ans.(c)
25 79 Sol.
37500__-4 104 6240 140%60 _
S—— 100
s,
Interest =6 Rs. -
nreres 240Rs %% of remaining equations = 2450 v 100
S219. Ans.(d) =22 . 100
Sol. 50 a
= 46 =04
ATQ, 3
7
2 186(x + 2(2 + x)) = 23110.5 S$225. Ans. ()
Sol.
23110.5 .
3x+4= —es1 Speed of train = 45 o
3x =35.5-4 =12.5 m/sec.
31.5 ATQ,
x=——=10.5 = 2l2+188
3 12.5
Rate for 204 Sum is = 10.5 + 2= 12.5 =20 =32 sec.
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S226. Ans.(d) S229. Ans.(a)
Sol. Avg. of 1°t four number = 78 Sol.
Total sum more than net avg. H.C.F of difference of 3738, 5659 and 9501
4 (78 —68) = +40 ...(i) 3738
Avg. of next four number = 63 >1921
Total sum less then net avg. = 5659 >1921
4 (63 —68) =-20...(ii) 3842
From (i) and (ii) 9501
x=1921
Sum Of 9th, 10th and llth number is y= 3738 -1921
=68x3-20 = 1817
=204—20 x+y=3738.
=184
A.T.Q S230. Ans.(c)
9th 10th 11th Sol.
2XX =4 X A v =
2X+ X — 4 +Xx =184 1D°[X y} Nﬂ'(x )
4X— 4 =184 4[}:_}?}_3[}':"'5’] . . ,
4x =188 4”'1‘43':37'”33’:’;:; (1)
X=47 - i
v % ¥ (given)
Avg. of g™ and 11" number is T
94 4 47 70.5 K:TUJ}’ putting value of x and y)
' 219 of K=" x 2=
S227. Ans.(a)
Sol. S231. Ans.(c)
A — 30 4 &
120 Rate=wx 100 =10%
B — 24 5 Amount = 22222 = 30000
120-9=10 _ 30 _ 6 days Interest of 2 year = 3000 + 3300 = 6300
° ° Interest of next éyear =36300 = ﬁ =1815
5228. Ans.(a) Amount = 30000 + 6300 + 1815 = 38115
Sol.
Letx=3 S232. Ans.(a)
20-3 _ 54-3 Sol.
37-3  105-3 A—b- g
17_st 11 Pt
3+ 10z 2 2 R—16-"3
Tx-5=(7%x3)-5=16 (1) A+B=11
x+1=23+1=4 ATQ.
mean proportional between 16 and 4= 8 Tlme_when ail tap are open
80 minute = 3 hr.
BILINGUAL AT.Q.
401, 1
" DEFENCE e
_u
& :
Pri e E:ftink em;:t-:y;nl;‘hr.
I" 3¢ tank empty in 2 hr.
Test chk A+Bempt§rﬁ[tank] in%hr.
Tank fill by Cin 3 hr.
AFCAT | CDS | CAPF | Others u_n_1
36 ET EL
—part fillin  hr by C.
500+ Total Tests Complete fill = x 36
12 Months Validity =48 hr.
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S233. Ans.(c)
Sol.

1785/1995\1
210

2101@[8
105
105/ 21012
Required Sum = 1785 + 1995
= 3780

S234. Ans.(d)
Sol.

First selling price = Rs. 1,134

CP=1,134x % = 1260
1354.50-1260

it O =
New profit 44 760
=7.50
S235. Ans.(c)
Sol.
10 5, 1 _5 1
3 -3)*3°03 P b
3,1 Ols~ 1.1
10 ' 18 73
N+ 4
6/ 16
of —+ 5
27+5 15" 2
9
- 8
3 4 1
327157 2
a0
15 4 81 2
=P8 o2kl
2 15 2 81
-4
81
5236. Ans.(c)
Sol.
Students

= 100

/\

Boys
N
@

Percentage of passed students = % x 100 = 74%

S237. Ans.(a)
Sol.

A=30 3
B =45>90<2
C=90 1

Work done in first 3days =3+ 3+ (3 + 2 + 1) = 12 units

Work done in 21 days = 84 unit
Work done in 23 days = 20 unit

Girls

VAN

S$238. Ans.(d)
Sol.

Total score of students = 69 = 42
B G
10 11

1.2x x

1Zx + 11lx
Net avg. = Y

1
0hq ==
20% -

Avg. ofboys = 1.2 x 63
=75.6

S239. Ans.(d)

Sol.

10500 xxx3 13500x xx3 13500x2x3
7650 = + +

100 100 100

6840 =240x =3
= x =950

S240. Ans.(c)
Sol.

First 3 month :-
Next 3 month :-
Next 3 month :- : :
Next 3 month:- 0.5: 16:
After 1 year= 7.5: 30: :

Ratio= 5 : 20: 24 = Total = 49

229% - 4800, So, Total profit = 4800 x 49

O
(oo QN T

(78]
C.\\-Dh.'.'l\ﬂ'd:ln

A's profit =
=Rs. 2,35,200

S241. Ans.(d)

Sol.

Let the no. = (7306 - 6454), (8797 - 7306), (8797 - 6454)
= 852, 1491, 2343

(d) HCF of 852, 1491 and 12343 =213

So,r=64

d-r=213-64=149

S242. Ans.(b)
Sol.
Price after 2004 discount =

20d discount = 14.4 Rs.
14.4%100 _

200

2504

= 200 Rs.

discount % = 7.204

S243. Ans.(d)
Sol.

Train A | Train B
Speed | x-16 | X

Time | T T-4
384 _E=4
x—16 x

1 1 1
(.r—lﬁ a ;)_ﬁ
x+1lb-x 1
[a—16)x _;

16 x 96 = (x - 16) x
x=48

48 x 32 =48 (32)
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S244. Ans.(a) S250. Ans.(c)
Sol. Sol.
Let the income — 100 ATQ -+ 22 2142 %
Saving — 25 g LB 45 12 3 152
Exp. — 75. E=; _')(:=?=';.|'E

New income = 120, New exp.=95
Required % = =2 X 100 = 26 %

S245. Ans.(d)
Sol.
(0,130 + (0.210° | (24)*4+3x (11520 +9

(0.39)% 4+ 81(0.07)2  (2.4)%+6 (24)%+ 3 x (17.28)
_ 0.0169 + 0.0441 331776 + 34.56+49

0.1521 + 0.3969  191.102976 + 199.0656 + 51.84
0.061 _, 44.008576

= X = 0.637
549 787376

Option (d}) 0.6 and 0.7

S246. Ans.(d)
Sol.
LCMof 8,9,12, 14, 36 — 504

$=>1{=2=;1012=4.

The number =

S247. Ans.(c)
Sol.

L tan30?
B

! 307
1.62m 45 Il.f-Em

total height of pole = 25.98 + 1.62
=27.6m

S5248. Ans.(a)

Sol.
5 3

W =2
) Sunit 10 liter
10 : 11

Tunit = 2 liter
Required quantity = 21 = 2 = 42 liter

S249. Ans.(b)
Sol.

Total number of female employees = 105
70094 =105 (given)

Total number of employees =% % 100 = 150

80% got promotion = 150 x % =120

S251. Ans.(c)
Sol.
10 = Marked price

3 - Selling price (discount of 10% allowed)

-

125 __ 5
Proﬁt=>1—=:o;

oo
C.P S.P M.P
Oys 105
4o Sx9

36 45 50
After offering 25% discount on marked price
SP=50x —=37.5
100
Profit=37.5-36=1.5
Profitdp = ﬁ x 100 = 4%%

S252. Ans.(c)
Sol.
4=3=+2x(4=2)-3+4x3=244
4+3+4x(2—4)x4+3+4 0f 3
% —§H3—3+ 4K:T+4 d-6+6+4 _ Bu4 =32

d+Zm(-2 s -6+l -7 7
& i3 &

Given

S253. Ans.(b)

Sol.

Let the number =x
Ix3xZ=179
3 a g
x=179 = 16
ATQ.

1 3

- X —-x179=x 16
3 4

=716

S254. Ans.(b)
Sol.

A:B:C

2:1:3

Total work =5 = 6 = 30 Unit

Aand C completed =5 = 5 = 25 Unit

Required days = % =5 days

S255. Ans.(d)

Sol.

538xy

Check by options (3% + y%)

(a) — 3, 1 when we put it is not divisible by 3
(b) — 4, 1 divisible by 11 not possible

(c) = 3, 4 — divisibility by 3 is not satisfied
(d) — 2, 3 — it is satisfied all conditions.

No. of female employees got promotion = 120 -85 = 35 Pz"lt X : 2,y=3
Required percentage = LI 100 = 33 l% Xyt = 4+9
105 3 = 13
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S256. Ans.(a) S260. Ans.(b)
Sol. Sol.
= 25inf + 15(1 —sin* @) =7
6 — V17 — 272 2sinf — 15sin® @ = —8
2 15sin’ @ — 2sind —8 =10
= 6 — [(3-2v2) 15sin? 6 + 10sinf — 12sinf —8 = 0
Je 31202 5 sadnﬁ(EsmE +2)— 4I{33m|5' +2)=0
S5sinf =4 , 3 sinf = —2
=V3 + 2v/2 , 4
- sinf = -
=/(V2+1)
=v2Z+1
=1.414+1 4 >
=24
S257. Ans.(b) 3
Sol. inf = 4
Let the number = x st 5‘1
2x3xZ=179 tan @ =2
x=179 x 16 ATQ
AT.Q. T
F - - 1a
2x3ix179x16 3
3 4 1
=716 T3
S258. Ans.(b) S261. Ans.(d)
Sol. Sol.
5000 7200 A 355 - 15
25:141. H 36;:4_ 2”
100 : 144
20%,. 20%, 10=5 ) 12 .
4year 4 year B 2 =25 =40
Make two slot of 4 years
Rate = 20094 C 15 x4 =20 15
AT.Q. 3
5:6
—
/ 1—>1310 Work done in 6 days. 47 x 6 = 282
1310 Required number of days = B -1 days
6550
Compound interest on sum is 1310
S262. Ans.(c)
Sol.
S259. Ans.(c) A B C D
Sol. 7 g
[.Iq. 1 B] » 16\ .-3
> 18 2 >
C—24~ ~2 8 5
A+B+C=+1unit 112 a0 200 175
(A+B)10=3x 10
= 30 unit D-B 45
— % 100 =—x 100 = 36
C alone empty = ? =15 hours. D 115 %
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S5263. Ans.(a)
Sol.

LCM of4,5,6,7,8 and 12 =840
Required Number = 840K + 2

PutK=1= % not divisible

B40x3+2

Putk=3 = divisible

The required number = 2522 = sum of digits = 11.

S264. Ans.(c)

Sol.
« B
12D
v
CD=12x— ==
18 3 _
22 g 4 100 _ 325 _ 5VI3
(AD)? =25+ 20 =22 = 2=

S265. Ans.(d)
Sol.
8003

= 600

Price After 1st discount =

second discount = % ® 100 =1094

S$266. Ans.(d)

Sol.

A : B : C
112000 x 12 80000x10-8000x2 72000x8 - 8000x2
112000 x 12 784000. . 560000
112 % 3 : 196 . 140
12 : 7 : 5
Total profit = 20 x 24 = 33600

S5267. Ans.(a)

Sol.

Let profit=x

ATQ, 4x = 400,x =100

Cost price =800 Required S.P. ZZ * 800=900

S$268. Ans.(a)

Sol.
dx+14

ATQ. ==y =14
Sx+14 &

Age after 5 years = 78 and 82
Required Ratio =34 : 41

S269. Ans.(b)
Sol.

222 —3 5 km /hr.
&w3

Downstream speed = 6.5 km/hr.

82722 — 4 5km/hr

e

Upstream speed =

Speed in still water =

Required Time = E = 20 hour

S270. Ans.(a)

Sol.

Required sum =222 X 100 = 36800
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